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Consider the following statements :

Planning involves

(1) Forecasting

(1) Choice among alternative courses of action
(11) Wishful thinking

(iv) Decision only by production manager
Of these statements : _

(1) (1), (ii), (iii) and (iv) are correct
(2) (i), (ii1) and (iv) are correct

(3) (1) and (i1) are correct

(4) (i1) and (ii1) are correct

P el oY & G

e & anfrr R

() JargAT

(i) IIH FRAFT B TH T

(iii) BT A GROT (SWIRA aR©)
(iv) ™o dead SERd T R

S B A A

D @, @), (i) @ Gv) T 3

@) () (i) T Gv) T B

3 () Gi) W

@) (i) T (iii) ¥ B

Overall and strategic planning is done by the :

(1) Top management (2) Middle level management
(3) Supervisory level management (4) ‘All of the above

T Cd M e o s

(1) 9N SEe B (2) HHE{E JaY BRI

(3) WANE W Y EN 4) SHE a
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No.
3. | Ifageneral manager asks the sales manager to recruit some salesman on

his behalf, it is an instance of
(1) Division of authority (2) Decentralisation of authority
(3) Delegation of authority (4) Delegation of responsibility

g% Rl W S g R gees | Fe Fel S 6 98 IEE R @ g
fsea atell @ oI B Al I8 TH a8

(1) IR & 9o & (2) TR & fab=igs<er &
(3) OTYHER & WRNY & (4) TTERE $ ARMY H

~ Consider the foliowing basic steps involved in the process of control :

(1) Identifying the strategic control points

(i) Establishment of the standards

(1i1) Measuring performance agaiﬁst standards

(iv) Colrrecting deviation from the standard

1) @, Qv), (i), @) @ @), @), (i), @)
@) (D), @, (i), (iv) (4) @), (i), @), @v)
=TT 0 kAT | g e ST =R B HaE A A
() TR e R (R @ veaw we
(i) A B R |
(iii) AT & SATAR O P AT HE

(iv) ARl g4 faeel & gar B

@) @), Gv), (i), (i) @ (), Gi), (i), (v)

@) @D, @), Gil), Q) 4) (), (i), @), Gv)
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5.

An organisation structure is effective if it enables individuals to contribute

to the objectives of the enterprise. This is known as
(1) Scalar principle _

(2) Principle of functional definition

(3) Principle of unity of objectives

(4) None of the above

TGS gl ST Akl B 36 4 s & B 3 e @ s @ ui
¥ wewyl AR #X, JEel 2§ 5w o 2
(1) oTg=m *fEan e

©2) s a1 R

(3) Bl H uH F T

@) IEw ¥ § B &

While delegating, a superior delegates

(1) Only authority

(2) Authority and reSponsibilityl

(3). Aﬁthority, responsibility and accountability

(4) Authority and responsibility but not accountability

WU FRAd T, T o AU ST Hia 2
(1) 397 SRR

Q) SYHR Td IR I

(3) SMUBR, IS TG FeReadm &l

(4) SR O SOREE @ feg SuaTdr @ T
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7. | Which of the following is true with respect to planning function ?

(1) To make a blue print of ideas and work
(2) To tell the work allocation to all

(3) Monitoring whether the things allocated are done proberly
(4) None of the above

o & & Ty § g § @ & ag R 7
(1) e wd &@ @ SREr s\
(2) &0 PN B T F Hdg F qd

(3) 39 919 = MR HET F O @ deary A T B g 9@ € 9 °
@ 3

(4) SR H | B T

Each subordinate should have only one superior whose command he has

to obey. This is known as

(1) Division of work

(2) Exception principle

(8) Unity of Command principle

(4) Authority - responsibility principle

T e & R A o Wi A AT R oRe B oY T #|
G )

(1) &E feee

(2) o9 F s

(3) RN Fl THA H fowr

4) STPR-IIERE &1 e
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9. | Inline and staff organisation the staff performs the function of
(1) Management

2) .Advising the management

(3) Assigning responsibility

(4) None of the above

[CRR] R G 4, Qs Eﬁrd F o

(1) HevgT

@) T B 2 A

(3) ST # SR w5

(4) SYF T @ g T

10. | Which one of the following orders indicates the correct logical order of

managerial functions ?
(1) Organising, Planning, Directing, Staffing, Coordination and Control
(2) Planning, Organising, Staffing, Directing, Control and Coordination

(3) Planning, Directing, Organising, Staffing, Control and Coordination
(4) Organising, Planning, Staffing, Directing, Control and Coordination

e § & I | T A 9 QA ey FE S HH 1 IR H §
(1) ©ed, e, Fesm, Py a9, avea o Faem
(2 Frem, @e, i @, Rlsm, Fee o wee
@) fEne, e, dwem, gk @@, fee © g
(4) T, e, PR e, FReE, Freeer @ g

MPH/PHD/URS EE-2018 (Commerce) Code-A
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Q“Iflss.i"n Questions
11. | The kinked demand curve explains _
(1) Price rigidity ' (2) Price flexibility
(3) Demand rigidity_. (4) Demand flexibility
faregfer i a6 e B B -
(1) P g 2) F e
@) T e (4) T S
12. Imﬁerfect compet‘ition was introduced by
(1) Marshall (2) Chamberlin
(3) Keynes (4) None of these ‘
| oryel sicanfr R Ram
(1) = & 2) =i &
(3) P4 &N ) FHH A R T
13. | A situation in which the number of competing firms is relétively smal.l is
known as
(1) Monopoly (2) Perfect competition
(3) Monopsony (4) Oligopoly

w U Refr Pl s w T W & den wibe e § a9 2
Hedrl & |

(1) TR ) Tf AR

@) AR . (4) ITIHRT

MPH/PHD/URS——EE—2018 (Commerce) Code-A
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14. | Demand is a function of

(1) Price (2) Firm
(3) Product (4) Cost
T BE ©

(1) F @ W
3) TR (4) A F

15. | Price effect in indifference curve analysis arises

(1) When the consumer becomes either better off or worse off because

price change is not compensated by income change
(2) When the consumer is better off due to a change in income and price
(3) When income and price change
(4) None of the above
FErAT o6 R § e TqE I@ S 3

(1) ST A1 @ o) Refy F Ser ¥ crear www Rafy F i s § g2
qREcH @l M H g4 uRad ¥ &gl e e 9wl

(2) & M U PHiuq F GRacd B BT SN ol Rafq F 2 B

(3) 9 M@ U HHG A YR B B |

@ S A B

MPH/PHD/URS-EE-2018 (Commerce) Code-A
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16. | Elasticity of demand measures the

(1) Sensitivity.of production to changes in a particular cost

(2) Sensitivity of sales to changes in a particular causal factor

(3) Value of price and cost

(4) Volume of product

A @ A Bl © -

(1) Frdl faiRre arm & aRecds & R S @ Sfedatdr &

(2) FRul fafore sivad oo & dRade & ST fase @ i daRkar @
(3) MG Td &N & A H

(4) IO B AT

1%

In the case of an inferior good, the income effect
(1) Isequal to the substition effect

(2) Reinforces the substition effect

(3) Partially offsets the substition effect

(4) More that offsets the substition effect

g agell & wdg 7 o e

(1) WRYOT 999 & SUEK B 2

(2) WRRAYT I T YGe BT

(3) ST o P orile ® § aRwgRe B 8
(4) SRR T4 1 R e sfwigia #xar &

MPH/PHD/URS-EE—-2018 (Commerce) Code-A
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Q“I%S(iion Questions
18. | What is customer value ?
(1) Ratio between the customer’s perceived benefits and the resources
used to obtain these benefits
(2) Excess of satisfaction over expectation
(3) Post purchase dissonance
(4) None of the above
IMeH I ;-7 7
(1) &% % BN Feqq PR 710 andl qon o el &1 o el o uEm R T
HEEEl & He ST |
(2) T & S e P anfieg
(3) I ST
@) S § Y B
19. | Which method does not consider the time value of money
' (1) Net present value (2) Internal Rate of Return
(3) Average rate of return (4) Profitability Index
e 7 @ -8 B & e e @ g A ad
1) g5 THE T @) eIRilG e &
3) N Y W (4) R gD
20. | Which of the following has the highest cost of capital ?

(1) Loans (2) Equity Shares

(3) Bonds (4) Preferences Shares
P 3 & Reee O A el 3 7

(1) =T (2) 5T 39T

(3) divgH (4) YAIERRR afsr

MPH/PHD/URS-EE-2018 (Commerce) Code-A
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21. | If the current ratio is 2:1 and wlorking capital is Rs. 60,000, what is the
value of the current assets ?

(1) 60,000 ‘r‘ (2 1,00,000

(3) ¥1,20,000 (4) ¥1,80,000

AR T SHA 2:1 § T FRAA o X 60,000 T A AR A€REN BT
B :

(1) ¥60,000 @) ¥1,00,000

3) ¥1,20,000 (4) ¥1,80,000

22. | Which one of the following is correct

(3) Aratiois 2n arithmetical relationship of one number to another number
1) Liquid ratio is also known as acid test ratio

(ii1)) Rule of thumb for current ratiois 2:1

(iv) Debt equity ratio is the relationship between outsiders fund and
shareholders fund

(1) Only (1), (i1) and (ii1) are correct

(2) Only (ii), (iii) and (iv) are correct

(3) Only (i1) and (ii1) are correct

(4) All of the above

frfifed & @ &9 @ & 8 ?

() oY TF dEl ¥ Al He ® MR e 8 ¢ |
(i) T AIAC HI ST TU&T U A Fedl ¢ |

(iii) e &Y § = U 2 :1 B B |

(iv) RO AT ST SRR G IO A9 ARG B IS % FeA FAY T € |
(1) Fad (), (ii) T (iid) T2 & |

(2) Fad (i), (iii) T (iv) & B |

(3) A (ii) T (iii) TE ¥

(4) ST T T T

MPH/PHD/URS-EE-2018 (Commerce) Code-A
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23.

If compounding is done quarterly in year, the effective rate of interst is
equal to

(1) 4 % nominal rate of interest

(2) (1 + nominal rate of interest/4)*

(3) (1 + nominal rate of interest)/4

(4) All of the above

a@fﬁﬁqﬁﬁqﬁeﬂmwﬁw (e fpam ST B QO ST Bl ST ST S
(1) 4@l i &

@ (1+== &t sifed &x/4)

@) (1+= & ot &) /4

4) IWF T
24. | Cost of capital from all the sources of funds is called
(1) Specific cost (2) Composite cost
(3) Implicit Cost : (4) Simple Average Cost
(1) fRRee Jre 2) UgH
(3) eriied ar (4) TR S A
25. | Which one of the following is not used to estimate cost of equity capital ?

(1) External yield criterion

(2) Dividend plus growth rate

(3) Equity capitalisation approach

(4) Capital asset pricing model

T Yol B AN ST de @ o Freifea § @ e s feRa S
(1) 9™ ™ HYES

(2) i |ied giE

(3) | YSlhT SR

(4) Yt R Femer Afesd

MPH/PHD/URS-EE-2018 (Commerce) Code-A
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26.

Liberalization means
(1) Reducing number of reserved industries from higher to lowe number
(2) Liberatingthe industry, trade and economy from unwanted restrictions

(3) Opening up of economy to the world by attaining international
competitiveness

(4) Free determination of interest rates

FERIHT § e #

(1) SRR JEFT H T B & T HH B ST dem § B q
(2) ST AR T Srferawdr SR (FER) gRi 5w e B R
(3) ST et B U F T d e orferwer @ 9w @ R
@) = W & ga R & kol

27. | When a company taken over another one and clearly becomes the new
owner, the action is called
(1) Mér_ger : (2) Acquisition
3) Strategig Alliance (4) None of the above
VI IS FHA GEG HU B SEET Bt B ool W w9 § T @l a9 o
g O Ul fpar sheem B
(1) T (2) atfepreT
(3) THiE TEan 4) SEE ¥ q PE T
28. Relaxing the restrictions and controls imposed on Business and industry

means

(1) Liberalisation (2) Privatisation

(3) Globalisation - (4) None of the above

A T N R T T el o Feeen § ge 3 § and o ®
1) TR @) Fsieste -

3) asdEwer 4) SUgw | | B

MPH/PHD/URS-EE-2018 (Commerce) Code-A
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29. | Company images and brand equity is factor affecting business

(1) Internally

(2) Externally

(8) Government Policy

(4) None of these

F A Bl T SUE SR U ue § Sl adE B AT B o
(1) of=<iRe &9 4

(2) 9®’ &9 |
(3) W i &
4) SugF § q B T
80. | Which among the following is not opened for private sector participation
| (1) * Power sector o (2) Telecommunication sector
(3) Education sector (4) Railway
| Pt &% & R Folt & @1 arferd & Rl 8 den = ¥ ?
1) Fe &= 2) W =R &=
3) famm &= (4) o
81. | ___ is an economic system based on the principal of free enterprise.
(1) Socialism (2) Capitalism
3) Mixed Economy. | (4) Marxism
Tl onfdie ereeen S o SEd B Risra W oneia o ¥ e ©
1) wHEER - (2) Yol
(3) M erefeyawen (4) AR

MPH/PHD/URS-EE-2018 (Commerce) Code-A
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32. | Privatisation of ownership through sale of equity share is called

(1) Denationalisation

(2) Disinvestment

3) Contracfing

4) None of these

AT AL Bl fehl & e @ @i P et dedn ©

(1) fersiwTe
(2)  fafwas
(3) 3 (EpREBT)
(4) I9gF H 9 BE T
88. | The Industrial policy resolution was passed first in
(1) 1931 (2) 1947
@) 1956 (4) 1999
Tedt AR e Ay e ORE R T
(1) 1931 (2) 1947%
(3) 1956 % (4) 1999F
34. | Globalisation is the term used to describe: process of removal of

restriction on

(1) Foreign Trade (2) Investment

(3) Both (1) and (2) (4) None of the above
%saﬁamaﬁzﬁrmﬁmwuﬁaﬁa@rsaﬁa%m%%ﬁmw%
() Ry =R @) Fas

@ Q)7 (@ W @) ST 7 ¥ FiE T

MPH/PHD/URS-EE-2018 (Commerce) Code-A
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35.

Laissez Faire policy is adopted in
(1) Socialist Economic system (2) Capitalist Economic system

(3) Mixed Economic system (4) Communist Economic system

YRl SANR i SR T R
(1) T s 2) Yol et §
(3) P arefereren A @) FYFE e §
36. | Which of the following is the vital question in the economic system
(1) What to produce (2) How to produce
(3) For whom to produce (4) All of the above
i & @ -9 U iRl & ol Aewyel 97 © ¢
1) &0 IART &R (2) HY IR HL
@) fEh A IamRd &t @) SR
37. | Which of the following is not the objective of Competition Act 2002 ?

(1) Prohibition of abuse of dominant position
(2) Prohibition of restrictive Trade practices
(3) Prohibition of anti-competitive Agreement

(4) Regulation of combinations

W@aﬁﬁ%—muﬁwﬁaﬁﬁqzoozm@wqﬁ%?
(V) ot Refr & gewdT @ Ay

@) UREFaTHR AR FEER # Ry

(3) wicreaei-fard orerdt @ ﬁiﬁ‘ra

(4) ﬂﬁaﬁ’faﬁrﬁw

MPH/PHD/URS-EE-2018 (Commerce) Code-A
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38. | The credit for inventing the word “Privatisation” goes to
(1) Elton Mayo (2) F.W. Taylor
(3) L.Urwick | | I(4) Peter Drucker
TR 9% I GIoW H 9T ST ©
1) T 3 & 2) Th. g=Y. T B
(3) wW. IFfF A (4) YRT EH @l

39. | Graph of variables having linear relation will be
(1) Curved (2) Hyperbola
(3) Straight line (4) None of the above
1) T | @) FAfRE
@ dd X (4) ST T § P Tl

40. | In which files, the records are organised in sequence and an index table is

‘used to speed up access to the records without requiring a search of the

entire file ?

(1) Direct files

(2) Sequential files

(3) Indexed Sequential files
4) None of these

e wRa el @ e FaRed e S & qun RET 0 BEd @ Sa
R owral 9% STET @ ugEd & o8 dlessr e b ST R S §

(1) S HEed
(2) HHIX B
(3) EIHd HHAR B

| @ T § *E @

MPH/PHD/URS-EE-2018 (Commerce) Code-A
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41. | Correlation between income and demand is
(1) Negative (2) Positive
(3) Zero (4) None of the above
o9 T4 A B qeF geeey o ¥
(1) FTHH | (2) g
@ I (4) ITFT | B T
42, | MIS stands for ?
(1) Multiple Information System
(2) Maximum Information System
(3) Management Information System
(4) None of the above
THIETE ¥ ard §
(1) 9§ I gomeh (2) SRR GEAT O
(3) W AT WO 4) S F B T
43. is the term given to any system of reorganiztion of data items within

a file, where the reorganisation is independent of the information content
of the file. '

(1) Printing (2) Maintenance

(3) Copying " (4) Merging
Wtﬁﬁﬁﬁeﬂ%‘f@fﬁdﬁﬁqﬁﬁgﬂ?ﬁﬁaﬁmﬁmﬁﬁﬁ SIESIE RS CRl
Fel e Wl § g & e ¥ b ¥ g o 3

(D) gzor (2) ST

(3) ufafafeTe (4) 39g ¥ fer 3

MPH/PHD/URS-EE-2018 (Commerce) Code-A
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44. | In which files, the records organised in such a way that it is possible for

the computer to directly locate the key of the desired record without having
to search through a sequence of other records ?

(1) Direct Files

(2) Sequential files

(3) Both (1) & (2) above
(4) None of these

| mmﬁaﬁ%@ﬁwmwmm%%wémaﬁ%

FRRE B Fo B T T Y R o sRRIEl & %Y B EoEe B ge
g g ¢

(1) HFa g

(2) STThHE HEeH
(3) (1) & (2) &M

4) S T ¥ B3 T

45.

Relationship of two or more variables is examined excludmg some other
variables in case of

(1) Total correlation

(2) Partial correlation
(3) Multiple correlation
(4) None of the above

FB AG T B BB gH A O A § IR G0 b HeA WY w I

FEa &

1) Y Hedsy

(2) o wEddy

(3) SN WeHdY

@) IEF | P T

MPH/PHD/URS-EE-2018 (Commerce) Code-A

(18)



Code—A

Q“;%fon Questions

46. | In the calculation of return on shareholders’ investments the referred
investment deals with
(1) All reserves
(2) Preference and equity capital only
(3) Al appropriations
(4) All of the above
SAEl & [EFET R I @ TR e @ R deRid BT @ aed
B @
1) @ = |
(2) Pa YAIER T T t;_@ﬁ q
@) wft RFEE J
(4) SUgE G @

47. | Dividing the net profit by the paid up amount of equity share capltal

yields

(1) Temporary investment

(2) Earning per share

(3) Rate of return on equity share capital

(4) None of the above _

YS T F bl ST B R A R Y ¥ 59 v 22 D
(1) owuEl ffEm

2) il o

(3) W SHAYSH W A o 3

(4 IE H B A

MPH/PHD/URS-EE-2018 (Commerce) Cdde-A
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48.

49.

The return on investment (ROI) may be calculated as

(1) Net profit before interest, tax and dividend / Capital employed
(2) Net profit after?interest, tax and dividend / Shareholder’s fund
(3) (Net profit - preference divided) / No. of equit: shares

(4) Return on Investment / Net profit ratio

ffaT X g (A o) @ TOFT 39 a%e § o wwdl

1) =, B @ AT 94 g /T G

(2) =AW, HT TG AW I B AH/SAANRAT B P

3) (Y& -Taiieer aris) /quar s @ o

@) RFET o /g AW eI

The major sources where from debentures can be redeemed are
(1) Profits

(1) Capital
(iii) Provisions made for redemption

(iv) Conversion into shares or new debentures

Select the corrent answer using the codes given below

1) @), (i) and (v) @ @) and (v)

@) (i) and Gv) @) (), Gi), (iii) and Gv)
TIE A B &R s @ e B o v © 3 ¥
(@) o™

(i) e

(i) oM 3 A T T Uy
(iv) T4 FOET oteer s § uRads

A R R 2 @ T B g W oW # T AR

1) (@), (iii) TF @iv) _ 2 G (iv)
(3) (iti) T (iv) @) @), (i), (iii) T (iv)

MPH/PHD/URS-EE-2018 (Commerce) Code-A
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50.

Which of the following profits are capital profits ?

(i) Profit prior to incorporation |

(11) Premium received on issue of shares or debentures
(111) Profit made on redemption of debentures

(iv) Profit set aside for redemption of preference shares
Select the correct answer using the codes given below
(1) (i), (iii) and @(Gv) @) (), (i) and Gv)

3) @), (i) and @v) 4) (1), (i), @ii) and (@iv)
Rreife 3 & @ & @ e T 2

@ e A B A

) oot ererar wOTET B Rl W o it

(iii) O & S 9X SAfeid e

(iv) JEIEER Sl & Mee & ol @ T A

A R T el d FE ERG G Wl I H Ah B
(1) (i), (i) T (iv) @) (), (i) T (@iv)

@) @, (i) T (iv) @) (), (i), (i) T @v)

51.

Market control process consists

(1) Formation of Performance standards
(2) Performance Appraisal

(3) Correcting Deviations

(4) All of the above

SR =T gfer § o ®

(1) oAbl @1 e

(2) oIS e

3) f=rT # gur

4 S @l

MPH/PHD/URS-EE-2018 (Commerce) Code-A
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52. | The marketiﬁg plan provides both
(1) The vision and the cost

(2) The vision and the direction
(3) The vision and control

(4) The vision and the post

e PR Q9 & P ©

(1) SfEchT T T

(2) EAREd @ e &

(3) SFaR T FE=T

(4) STERFT TE AT Tbah

53. | Which of the following is not factors of the demand variable, according to

Philip Kotler ?

(1) Environment Variable (2) Competition Variable

(3) Customer Variable (4) All of the above

RERIT Freay & OfgER Friee 3 ie-ar 3 § aRedd @ g9eh T © 7
(1) 9Rae =W @) ufraet =X

3) WEH =W (4) IgF |

~ 54. | Which of the following is not controllable variable of marketing
management ? ' '

(1) Competitive Environment (2) Technological Environment
(3) Economic Environment (4) All of above |

foE weree § frefied § § @9 & Freerie @ @R 7

(1) uicegel gl gRasT (2) THIH TRAN

(3) T, gRaw (@) SugE ad

MPH/PHD/URS-EE-2018 (Commerce) Code-A
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Questions

55.

Promotion mix is the particular combination of promotional tools used by

a company to with its audiences.

(1) Communicate

(2) Help

(8) Purchasing Decision

(4) Plan , _

ERHl T & WA R & w9 § dade gt @ R R w8 B 5Ee
[T ST &, 98 I WY RN H A B R o ©

(1) w_or

(2) W@

3) A Mol

@) TR

56.

Which is a base of green marketing ?
(1) Green house gas reduction market
(2) Capital Flow

(3) Programme

'(4) Product

e & & BiF-a1 M9 AT P e 2|
() A7 ETREGIRT 9K () Gy
(3) FEdHH (4) IR

MPH/PHD/URS-EE-2018 (Commerce) Code-A

- . (23)



Code-A

Q“‘*S;ion Questions
57.

The market process involves, which functions ?

(1) Buying - i (11) Transporting

(iii) Storing . (iv) Selling

(v) Grading (vi) Financing

(vi1) Risk-bearing (viii) Dividing

1) @, (iiij and (iv) ) @), (i), (i), (vi) and (vii)
_ (3) Only (i11) _ (4) All of these

ISR UfEaT § RH-91 @ ard & 7

i) 3 (i) 9ReeT

(iil) HISTOT (iv) fespa

) ol - i) B sEeee

(vii) SRT-T= (viii) faaeT

M @), (i) TF () @) @, @), (i), (vi) T (vii)

(8) ha (idi) - @ 3 ad

58.

Sales promotion includes all promotional activities other than advertising,

personl selling and
(1) Publicity (2) Advertisement
(3) Production (4) Coupon

mmﬁﬁwﬁmmﬁﬁmsﬁ@ﬁ%mﬂw,mﬁm
T§_ R BE|

(1) &R Q) fasm=
(3) S (4) FIA

MPH/PHD/URS-EE-2018 (Commerce) Code-A
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59. | Which of the following point is responsible for effective market
segmentation ?
(1) Mt:-:asurabi]ity (2) Easy & accessibility
(3) Substantiality (4) All of the above
TqEYel I USRI & fofl e § @ Hi-91 9ed el el & ¢
(1) qRHFa (2) WX T SARETRIE
(3) RO @) SugE a4

60. | Philosophy of marketing includes :

(1) Product oriented marketing

(1) Production oriented marketing

(ii1) Sale oriented marketing |

(iv) Customer oriented marketing

(v) Social marketing |

(vi) Green marketing

(1) i i, iii and iv (@) i, i, ivand v
(3) 1ii,iv, vandvi (4) All of the above
fgooF & asH-ome ¥ wiafd ®

() SERMNE e

(i) SEEARIE faueH

(iii) feEpagE oo

(iv) TTeBE R

(v) WEHRRE GIoe

(vi) U HEBET

(1) 1i,1ii, i1 TF iv (2) ii,iii, iv3d v
3) 1iii, iv, v vi 4) Gq’ézﬁ gt

MPH/PHD/URS-EE-2018 (Commerce) Code-A
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61. | Brand concept not includes

(1) Digital marketing (2) Brand name

(3) Brand identity and value (4) Brand personality
SIS FqERET § afufed T8 8

(1) Rfrea @R @) S P AW

(3) SIS &l YA Ud Hed (4) VS FH AfRT

~ 62. | Which research includes all types of researchers into human motives when

it refers to qualitative research designed to uncover the consumer’s sub

consciousness or hidden motivations ?

(1) Motivational Research - (2) Marketing Research

(3) Managerial Research (4) Price Research

9& HIA-G1 FFHAA & Fred AFe ReRe ¥ gt www rgdy S e
Pl ST & O T 5% SRR 3 S ST g g SRR @ 9 &
R o STYEON & &9 ¥ geqd e s € 7

(1) STEROHS ST (2) UM IgEaE

(3) DA SN (4) B SIEUE

63. | Which is not a method of performance appraisal ?

(1) Straight ranking method (2) Man-to-man comparison method

(3) Check list method {4) None of thé above
T B8 e geaied @ Rl R |
1) @ B R @ = & @fE # g B
(3) it g fafy (4) SUgF A | BB T

MPH/PHD/URS-EE-2018 (Commerce) Code-A
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Qu&sﬁion Questions

64. | Arrange the following staffing procedure in the correct sequence
@) De.termi.ning sources of personnel supply

(i1) Préparing personnel specifications

(iii) Selection of personnel

(iv) Determining Personnel Characteristics

(1) @), @), iv) and (iii). (2) @), (i), (i) and (iv)

(3) (@), (), (iii) and (iv) (4) (i), (1), () and @(iv)
i g ofkar @ w8 9 § emafem iR

G) B @ o % A @ R

(i) YRR § waf ARG @ R B

(iti) R B T

(iv) HamEpEr # faQwareT & fafter

D) (D, @), (v) T (ii) @) @), @), (i) T @Qv)
3) @b, (@), (iii) T (iv) @) (i), (i), () T (iv)

65. Training information system included

(1) Training aids (2) Internal and external faculty
3) Training resources (4) Training needs

ST T ST R 3

(1) JRET qeEs (2) T T T A T
(3) ST e (4) SR STEwET

MPH/PHD/URS-EE-2018 (Commerce) Code-A
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66. | Anenterprise gets more output and mutual cooperation from its subordinate

staff by adopting

(1) Motivating by Leadership

(2) Motivation by participation

(3) Motivation by goals

4) Motivation by Challenges

o S T FEEE FHEd @ R ofes ofeeye W URERE wedr
HT © AR T8 AN B O

(1) g B AR

(2) TEWIEr T SARmReT

(3) @edt gmr SIRERer
(4) TARE T SR

67.

On the Job Training Methods is based on

(1) Demonstration Method  (2) Apprenticeship Training Method
(8) Informal Training (4) All of the above
P o mREer Yy R @
1) e By w () uiRrg wReer iy w
(3) IR HRET T @) IgE a4 W
68. | The concept of Human relations was developed by

(1) Robert Owen (2) V.V.Giri

(3) Elton Mayo (4) Edwin B. Filippo
Oa Heel P STauRen R @ Tl

(1) T2 oaq &} @) &@. 4. ffRt &

(3) TwEA WAl &N (4) TeeH . fefkr &

MPH/PHD/URS-EE-2018 (Commerce) Code-A
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No. Questions
69. | Which among the following are parts of job description ?

(1) Duties performed

(1) Job summary

(1i1) Job identification

(iv) Supervision given

(v) Delegation of authority

(1) (@), (i), (i) and (iv) @) (i), (iii), (v) and (v)
@ @, @ii), (iv) and (v) 4 @, (D), (ii) and (v)
Pt & i & Br-aoi & o ¥

(@) fonfed e @ wr

(i) HE GRiN

(iil) HE AREH

(iv) feam T e

(v) SHAHR B AR

M) @), Gi), (i) @ (iv) (2) @), (i), (iv) T ()
@) @), (i), (iv) T @) @ @, @), (i) T (v)

70.

Job analysis provides information used for writing

(1) Organisation chart ) Poliéy

(3) dJob Description 4) Pro-cedure

FE AR FEAT A TN R SR B @ R R o
(1) ST W @ |

@) FE R (4) wfafy

MPH/PHD/URS-EE-2018 (Commerce) Code-A
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71. | Recruitment and selection involves the following except

(1) Building a pool of candidates _
(2) Completing application form by applicants
(3) Reduction of the work force

(4) Employment planning and forecasting

it e T 3w ¥ R

(1) orald & o A (W) 3 P B B
(©) TR T T A T B

3 Fd TdH =1 FE B

4) TS FEE T Q@A &9 @

72.

(@) T T PR W 3w 1 e qet i o R e

Where a partner transfers any capital asset into the business of firm, the

sale consideration of such asset to the partner shall be

(1) Market value of such asset on the date of such transfer
(2) Price at which it was recorded in the boq}cs of the firm

(8) Cost of such asset to the partner

(4) None of the above

S A GEER B & ZEEn ¥ 3% O O emeRa B § @ Ol
P fasha Ui IH WEER & Rl e

(1) TFRT & R W) T TR A 5

(3) UERER & A U =iy & @r
@) S § q B T

MPH/PHD/URS-EE-2018 (Commerce) Code-A
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73. | Dividend paid by an Indian company is

(1) Taxable in India in the hands of the recipient
(2) Exemptin the hands of recipient

(3) Taxable in the hands of the company and exempt in the hands of the

recipient
4) INone of the above
Th I HEl EIT & T @i &
(1) Y<at & A 9 & & 3
@) e & R B g
3) TN F R B A9 o At B R B g
4) SR F q FE

74.

Agricultural income is exempt provided the

(1) Land is situated in India

(2) Land is situated in any rural area of India

(3) Land is situated whether in India or outside India
(4) None of the above

P T IR YH T 99

1) 9 T F fe R

@ 9 9T % e ardor & F Rew &

3) 9 I @ IRT F Reg & fEr wRa B AR

(4) ST F ¥ B

MPH/PHD/URS-EE-2018 (Commerce) Code-A
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75. | Deduction under section 80C shall be allowed for

(1) Any education fee

(2) Tution fee exclusive of any payment towards any development fee or

donation or payment of similar nature
(3) Tution fee and annual charges
(4) None of the above
qRT 80C & STHI Helll 36 8 Wiegd Il
O #E Rer g '

@) Fbr goF oTUal oM Tl I UGN & OFF WER & Y B BIEHT
R b (299 i)

3) Rmn g o At b

4) SEF ¥ F PR T
76. | Asper the RBI’s clean note policy writing on a currency note is
(1) An offense | (2) A crime
3) A'punishable offence (4) The notes becomes non-legal tender
ARSI F E® T G A B FFAR T FH W W o @
(1) @& AW () T Iy |
(3) T TSAE AN @) =-ga1 R-fafe g @ o @
77. | Which of the following is the latest buzzword among bankers ?
(1) Social banking (2) Financial inclusion
| (3) Massbanking (4) None of the above
i & wer i & @ SF-a1 MY 9= TEae | R
(1) wHfrE ST @) fim e
3) S TE ST 4) STET | & F§ ol

MPH/PHD/URS-EE-2018 (Commerce) Code-A
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78. | The portion of total deposits of a commercial bank which it has to keep
with RBI in the form of cash reserves is termed as

() CRR | @) SLR
(3) Bank Rate (4) Repo Rate

Tehell A % % T AT B a 9RO Y IREISTE 3 U T o & &Y
4 TG ST ¥ Pedn @

(1) SRR (2) THIEAR
(8) % T (4) /W T

79. | For Indian banking, the 1st Aﬁgust of every year is observed as
(1) KYC Compliance Day

(2) KYC Compliance of AML Days

(3) Computer Security Day

(4) KYC Compliance and Fraud Prevention Day
e ST ¥ ofy af 1 o weRn o @

(1) HIEH T Rag & = F
2) FARH AU B T Raw & w9 §

(3) FY g Raq & &y H
@) DALY TR T FHue ﬁirr{urﬁaﬁ%’@qﬁ

80. | Real Time Gross Settlement (RTGS) is management by
(1) State Bank of India (2) Reserve Bank of India
(3) IndianBank Association (4) Government of India
Raw emw 99 AT (IRANTH) F1 yere R otrr
(1) 9RGE ®e 5 @) (2) R Red S am
(3) TR I P W AW (4) R G G

MPH/PHD/URS-EE-2018 (Commerce) Code-A
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81. | Which section of Banking Regulation Act 1949 provides nomination for

payment of depositor’s money ?

(1) Section 42

(2) Section 24

(8) Section 110A
(4) Section 452A

aﬁnﬁﬁwmﬁﬁwmwaﬁaﬁq—@wmﬁi%méw%%ﬁ
i bl el B ¢ -

(1) 91T 42
(2) 91 24
(3) 4T 110A
(4) 91T 452A

32.

Relationship of banker with payee of draft

(1) Trustee and Beneficiary

(2) Draweesand Drawee

(3) Licensor and Licensee

(4) Prmc1ple and Agent

STTC T T qﬁaﬁ%w%’wwwa@m%
() =R e @

2) omeEl o SRy &

(3) THAET Td aEa &

@) 9 g A B

MPH/PHD/URS—EE-—2018 (Commerce) Code-A
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83.

Which of the following statement is true ?

(1)

2

@)

4)

The currency notes issued by RBI are legal tender throughout
the world.

The treasury bills are sold by the RBI for raising its working capital.

All commercial banks, including those owned by government, do not
need a licence from the RBI to do banking business.

The RBI is a banker to both central and state governments.

Frrfeafag & ¥ H9-91 $9F 99 § 7

1)
@)

©))

(4)

e FW Fria o ga wet fasa § 9 g @ w

T PR OO TR F & Rl Tdiens g $Sil et @ fespa e

S B L

WWWWW%@W%@WWW%W
RAISTE T ARAT o I STEaghar Tel skl |

NAISE % Ud (T BN AT Bl ST Bl 8 |

84.

SEBI is

ey
@)
@)
4)

Regulatory Authority

Statutory Authority
Both (a) and (b)
None of these

GRS

@)
@)
3)
(4)

e mider
degtves i
(1) T2 (2) &
SF | A B TRl

MPH/PHD/URS-EE-2018 (Commerce) Code-A

(35)




Code—A_

Question C
No. | Questions
85. | The short term money market comprises

(1) The call money market

(2) The interbank deposit market

(3) The bills re-discounting market

(4) All of the above

BN T SR A iR §

(1) g0 I9R @) o ¥% AT auR
@) R g woR TER (@) SugF adl '

86.

Bilateral arrangements instituted to restrain the rapid growth of exports

of specific manufactured goods, are called

(1) Administered protection (2) Voluntary export restraints

(3) Imposed export restraints (4) None of the above

T faudia Y S R e B R T S Rt # A @ O a afe
R ® R B T T wead B

(1) =aRed Ew @) Wies FEk sEas
(3) 9N g FEfk s (4) SUgHE | 9 B TE

87.

India is not associated with

(1) SAARC (2) NAFTA

(3) BRICS (4) None of these
TRA e WY T T B

1 > (2) T

@) frF @) ¥ ¥ IR T

MPH/PHD/URS-EE-2018 (Commerce) Code-A
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88.

According to the credit tranche policy of the IMF, credit is made
availablein:

(1) Five tranches, each equivalent to 20% of country’s quota
(2) Four tranches, each equivalent to 25 % of country’s quota

(8) Ten tranches, each equivalént to 10% of country’s SDRs

(4) Four tranches, each equivalent to 256% of country’s SDRs
IETITH F GUE ARG T AT B SR, TG Iude FEN T &
1) uE TS § 9% 99 UK B hl B 20% B GUEK

(2) IR G | YAF I UL & HT B 25% $ A&

(3) W TS A U S6 U & USSR & 10% & SEX

(4) IR GUel ¥ Ud% 39 UK $ TESISR & 25% & S¥E}

89.

A tariff fails to restrict imports when the demand for imports is

(1) Perfectly price elastic (2) Price inelastic

(3) Of unitary price elasticity (4) None of the above

B O ST A SRR B A S el ¥ I SR A A ¥
1) eI gE aNe ©2) T R

(3) THE & TR TA TN (4) IYF F | FE T

90.

Which barrier can be used against recession induced exports into the
country ?

(1) Quotas (2) Voluntary export restraints
(8) Tariff (4) All of the above

el 2 7 A ot it & s B & ety A R S ¥ 7
1) & 2) Wies FEa sEus

(3) 9L (4) SugH |

MPH/PHD/URS-EE-2018 (Commerce) Code-A
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91. | Which of the following is the best example of Agreement between|

Oligopolists ?

(1) GATT (2) OPEC

@) WTO (4) UNIDO

Frfafed § ¥ B9-91 oRTREal & HeF W B o e § ¢
@ = (@) I

@) s=den @) I

92, | Which of the following is true about the Board of Governor’s of IMF ?
(1) They meet once a year :

(2) They may vote by mail at other times except the annual meeting
(3) Both (1) and (2)

(4) They are elected annually

TETITE & o o & weEl & @ ¥ et ¥ w6l ?
() ¥ af F wF IR P B '
@) diftis g1 B BigH] o FREl @ o & A ERT WaeN HY R €
(3 (1) T (2) 3

@) 3 9% &7 I 9 °

93. | The companies globalise their operations through deficient means
(1) Exporting directly (2) Licensing/Franchising

(3) Joint venture (4) All of the above

Bl orht e TRt B PR wem § e B
() soEey § ol s@ () AEaRE/mbEEs N

(3) TYH IWHA BN 4) S9gF Tl &

MPH/PHD/URS-EE-2018 (Commerce) Code-A
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94. | SDR’s are popularly known as
(1) Currency Notes (2) Paper Gold
(3) Silver Coin ' (4) Gold Coin
Q.H_-Sﬁram EI%T AT il sl %
1) HE AH & w9 H 2) TN e & &9 |
@) R F@RT & &9 4) Tee FaET B 9 H

95. | The components of WTO are
(1) Ministerial conferernce (2) Disputes settlement body
(3) Director General (4) All of the above
SIS & ST § |
(1) == wE g @) far Fuern Fed
(3) WeINR® (4) IugF ad

96. | Capital gain of Rs. 75 lakh arising from transfer of long term capital

assets will be exempt from tax if such capital gain is invested in the bonds
redeemable after three years, issued by NHAI w/s 54EC of the Act.

(1) True

(2) False

(3) Cannot be said with certainty

(4) Is decided by the Assessing Officer

STEERTRA OGSt TR o BRIIOT 9 S 81 arell X 75 W 1 Yol A B G
BT AR U7 AW @ eEeeTE ER NG AN ast $ user ey el §
AAffEg 4r1 54EC & =il (Al fear s

(1) " -
(2) oEd™

3) e &9 § & F& dhd

(4) HT MERT Sty g1 ot frer s

MPH/PHD/URS-EE-2018 (Commerce) Code-A
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97. | Deduction u/s 80G on account of donation is allowed to

(1) Abusiness Assessee only

(2) Any Assessee |

(3) Individual or HUF only

(4) None of the above

T & W F U4 80G B ST Hek wiepd el ¥
(1) %9 TF FIS B & ol

2) el off e & Rl

3) %A K Yl TWYE B o

(4) SUYHR F A BE T

98.

Deduction u/s 80D is allowed if the premium is paid to
(1) Life insurance Corporation
(2) Generalinsurance Corporation or any otherinsurer approved by IRDA

(3) Life insurance or General insurance corporation

(4) None of the above

(T 80D % ST Ferdl Wi A & AR e @ e R T ®

(1) e dmr Fm ar ‘
(2) W S R P STEET 3RSt BT SRR Rl S e @
(3) SN &1 Sfer@r Mg iar Fee B

(4) SugE A ¥ BE T

' MPH/PHD/URS—EE—2.018 (Commerce) Code-A
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99,

Under the head Business or Profession, the method of accounting which
an assessee can follow shall be '

(1) Mercantile system only

(2) Cash system only |

(3) Mercantile or cash syétem only

(4) Hybrid system | ;

TGHE Ul U A . S U BRGET SN ACHT B A SO SO
ST gz enf

(1) Faa AARE o

(2) %A THE T

(3) MRS ALl 7Thg Tl

@) R STl |

100.

Incomes which accrue or arise outside India but are received directly into
India are taxable in case of

(1) Resident only

(2) Both ordinarily resident and NOR
3) Non-ReSident

(4) All the assesses

TE o S ARG % SET SIS SFear FG= St @ Qb ARG § 01 &1 STt
g X A e

(1) %aq FamE & )

(2) WHRCAT Marl T TSNS IMi & ol

3) R-FafwEt & /Rl

(@) | HErREl & M

MPH/PHD/URS-EE-2018 (Commerce) Code-A
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| Q“ﬁit.i‘m Questions
1. | Correlation between income and demand is
(1) Negative (2) Positive
(3) Zero (4) None of the above
Y TG W & A WeHad Al & |
(1) =S (2) TR
3) T ' 4) SHF F & F3 T
2. | MIS stands for ?
(1) Multiple Information System
(2) Maximum Information System
(8) Management Information System
(4) None of the above -
T & A ¥
(1) < e Tl (2) Siftream GEAT TTRA
(8) WeRI YA HOIA 4) IRFF & q B T
3. | __ isthe term given to any system of reorganiztion of data items within

a file, where the reorganisation is independent of the information content
of the file.

(1) Printing (2) Maintenance

(3) Copying (4) Merging

Pedl et & omESt @ W WA @) qeRed B A WO o wEd @ g
ey Rva wreEl @ qeleen @ ey § gieds 3 % o @ -

(1) &I (2) T

(3)  HfcifetfiesTeT (4) og & Far &

MPH/PHD/URS-EE-2018 (Commerce) Code-B
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4. | In which files, the records organised in such a way that it is possible for

the computer to directly locate the key of the desired record without having

to search through a sequence of other records ?
(1) Direct Files |

(2) Sequential files

(8) Both (1) & (2) above

(4) None of these

fod PR § oWl @ 39 WK FERyd BT o 3 e § A e
afE B ol B TP B9 q R o omEl & %W @ weE R ge
| & 7

(1) ucFer HIRed

(2) SR BT

3) (1) T (2) W

(4) SWF T q PR T

Relationship of two or more variables is examined excluding some other
variables in case of '

(1) Total correlation |

(2) Partial correlation

(3) Multiple correlation

(4) None of the above
@Wﬂﬁﬁ@gﬁgﬁﬁaﬂﬂifﬁeﬁmﬁaﬁ%qwﬂamwﬁw
Fearl © .

Q) i weEdy

(2) iREn HeHad

3) agll weHey

4) SHEE A @ FE T

MPH/PHD/URS-EE-2018 (Commerce) Code-B
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6. In the calculation of return on shareholders’ investments the referred

investment deals with

(1) All reserves

(2) Preference and equity capital only

(3) All appropriations

(4) All of the above _
s @ REEM W e @ T e & R ekl RfEm 8 o
Bl §

() & g |

(2) Pa@ yEifeR w wHEr g @

@) @i fafmErt @

@) Sugw wdl @

Dividing the net profit by the paid up amount of equity share capital
yields

(1) Temporary investment

(2) Earning per share

(3) Rate of return on equity share capital

(4) None of the above
g@m@m@a@aﬁmamﬁamﬁmaﬁ%@?ﬁ%
(1) orgrdl fafErT

(2) wiceier o

(3) W SiagSt W N B X

(4) ST A A T
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8. | The return on investment (ROI) may be calculated as

(1) Net profit before interest, tax and dividend / Capital employed
2) Net profit after interest, tax and dividend / Shareholder s fund
(3) (Net profit - preference divided) / No. of equity shares

(4) Return on Investment / Net pfoﬁt ratio

| R T (SR eTE) B O T e & # o whd E

(1) &, 3w awe © e /e G

(2) &M, HX TG T qsama;awmmﬁﬁ%m

@) (g aw-YEiiER i) /aadr S @ e

(4) ffvEm @ gERE/gE A g

9. | The major sources where from debentures can be redeemed are
(i) Profits

(i) Capital

(iii) Provisions made for redemption

(iv) Conversion into shares or new debentures

Select the corrent answer using the codes given below

(1) @), (iii) and (iv) (2 (1) and @v)

(3) (iil) and (iv) 4) (@), (ii), (ii) and (v)
m@@aﬁﬁ%mmwsﬂaﬂﬁwww%%%

@ ™

(i) Yo

(i) MeF F /A 98 1@ YEEE

(iv) T Tl rgar ofeh ¥ aRadH |
?ﬂ%ﬁﬂﬂﬁiﬁaﬁrmaﬂﬁ@aﬁmquﬁﬁﬁ
1) @), (i) @ Gv) @ O @)

@) (i) @ (@) @ (@), Gi), (i) W Gv)

MPH/PHDIURS—EE—2018 (Commerce) Code-B
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10. | Which of the following profits are capital profits ?

(i) Profit prior to incorporation
(i) Premium received on issue of shares or debentures
(iii) Profit made on redemption of debentures

(iv) Profit set aside for redemption of preferehce shares

‘Select the correct answer using the codes given below

(1) (ii), (iii) and (iv) @) (), (i) and (V)

@) (), (ii) and (v) @ (), (ii), (iii) and (iv)
Prefeiad § @ &9 & T ol e 2

() IE d 9@ @ A

(i) oigl srger wOE @ e W oo it

(iii) O B MEA W AT @

(iv) WEifEFR ofsl & e & fod Tar T @

2 Ra R 5 T FWQ g T IR T Hod

1) Gi), (i) T (iv) @ @), (i) ™ @Qv)

@3) (@), () W@ @{iv) @ (), @), (i) T (v)

11.

Recruitment and selection involves the following except
(1) Building a pool of candidates

(2) Completing application form by applicants

(8) Reduction of the work force '

(4) Employment planning and forecasting

et od Tge § affia 8 R

Q) s & o a (a) B R a3

(2) SEEH BN SETH-TF H WA &

(3) FE 7w § FH FA B

(4) e RS o QA R &

MPH/PHD/URS-EE-2018 (Commerce) Code-B
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12.

Where a partner transfers any capital asset into the business of firm, the

sale consideration of such asset to the partner shall be

(1) Market value of such asset on the date of such transfer
(2) Price at which it was recorded in the books of the firm |

(3) Cost of such asset to the partner
(4) None of the above

mﬁémﬁaﬂwéwﬂﬁwﬁwﬁmﬁﬁﬂm%ﬁ@mmm
gRiGT 99 UK & [ &

(1) e @ fafy ) T wER & ae T .

(2) %memmﬁzﬁ.mﬁ.ﬁgmﬁﬁaﬁamﬂmw%
@) WEER & R T TR @ are

(4) v ¥ A B

13.

Dividend paid by an Indian company is

(1) Taxable in India in the hands of the recipient

(2) Exempt in the hands of recipient , |

(3) Taxable in the hands of the company and exempt in the hands of the
recipient |

(4) None of the above

o AT A ER REr T A g

(1) s @ R wRa § & A

@ s & R a5

®3) M%mww'ﬁqﬁaﬁf%mmgw

(4) SwiE ¥ @ T

MPHIPHDIURS—EE—2018 (Commerce) Code-B
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14. | Agricultural income is exempt provided the

(1) Landi is situated in India
(2) Landis situated in any rural area of India

(3) Landis situated whether in India or outside India

\(4)' None of the above

N o FT g & 994

(1) 9 wrRa ¥ Rea

@) oft WA & Feel a8 § R B

@) 9 a7 o 9RT § Rud § T 9RA & e}
(4) vwdF ¥ § 9 T |

15.

Deductioﬁ under section 80C shall be allowed for
(1) Any education fee

(2) Tution fee exclusive of any payment towards any development fee or

donation or payment of similar nature

(8) Tution fee and annual charges

(4) None of the above

qRT 80C & I ekl ga i Wi Brfl

(1) *E Rem g

(2) fabrg e ergar T SR geﬁufﬁﬁ%mw%wﬁ BIgEHT
R g (TgeF W)

(3) Rwm g Cd AMF I
@) IHH T IR T

MPH/PHD/URS—EE—2018 (Commerce) Code-B
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Q“%?fon Quesi?ions

16. | As per the RBI's clean note policy writing on a currency note is
§))] Anoffense | ' (2) A crime’
3) Apunishablé offence (4) The notes becoﬁles non-legal teﬁder
mﬁaﬁﬁmwm%%wwwwm%@m%:
O @A @) T
(3) T TEHAE AW @) - -l g E S E

17. | Which of the following is the latest buzzword among bankers ?
(1) Social banking ~ (2) Financialinclusion ‘
(3) Massbanking ‘(4) None of the above
S 3 e Preied & @ Gr-ar T 9 e
(1) are ST @) R gaRs
(3) S W b (@) IFYH F § DR Tl

18. | The portion of total deposits of a commercial bank which it has to keep
with RBI in the form of cash reserves is termed as
(1) CRR @ SLR
(3) Bank Rate (4) Repo Rate
WW%%@HWH%W@G@M&W@%WWW%Wﬁ
(1) WA | 2) TWWEIN
(3) & T @ WX

MPH/PHD/URS-EE-2018 (Commerce) Code-B
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19.

For Indian banking, the 1st August of every year is observed as
(1) KYC Compliance Day

(2) KYC Compliance of AML Days

(3) Computer Security Day

(4) KYC Compliance and Fraud Prevention Day

A &6 ¥ ot af 1 FR T ST ®

(1) FTER eFueH Raw $ w9 |

@) IR IYUEH B T Rag B &I F

() X gun Rew & & §

4) IR eI @ Fue FraRe Req & &0 |

20.

Real Time Gross Settlement (RTGS) is management by
(1) State Bank of India (2) Reserve Bank of India
(3) Indian Bank Association (4) Government of India
Raw @& e ddaie (RASNTE) &1 e Fea S 8

(1) o ®e 96 a1 (2) 9T Rl §% @)
(3) R SH & GH EW (4) 9RT TER &}

21,

Which of the following is the best example of Agreement between
Oligopolists ?

(1) GATT (2) OPEC

(3) WTO (4) UNIDO

Rreefad § Q@ BF-A SRURERG & " W @ add Saed & 7
1 e (2) 9%

(3) s=dal @) g

MPH/PHD/URS-EE-2018 (Commerce). Code-B
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fmesson Questions

22. | Which of the following is true about the Board of Governor’s of IMF ?
(1) They meet once a year

(2) They may vote by mail at other times except the annual meeting
(3) Both (1) and (2)

(4) They are elected annually

TETHTE & Wl Hed B WeEd & wa § et ¥ w wd ¥ ?

(1) a9 F o IR fea §

©2) affes wer B BeHt o et qua ft 3 A7 EN TEREE BT

@) (1) T (2) |

(@) -3 At w9 & g . 2

23. | The companies globalise th_eir operations through deficient means
(1) Exporting directly (2) Licensing/Franchising . |
(3) Joint venture (4) All of the above
FeOEl S AT TR & Rk ae @ qavedigd B
(1) s @ Rk a0 (2) T/ @

(3) HYH IWHA BN (4) SF | &

| 24, | SDR’s are popularly known as
(1) Currency Notes (2) Paper Gold
3) Silver Coin | (4) Gold Coin
THEAR & ARGl ST Sl &
(1) i Iicd & &4 § 2) T e & &0 |
3) T T & w9 A (4) Tee FET & &Y H

MPH/PHD/URS-EE-2018 (Commerce) Code-B
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25. | The components of WTO are
(1) Ministerial conferernce
(2) Disputes settlement body
(3) Director General
(4) All of the above
sl & oft ¥
(1) = wE T8
) e Fuerr Fem
(3) WIS

@ o

26. | Capital gain of Rs. 75 lakh arising from transfer of long term capital
assets will be exempt from tax if such capital gain is invested in the bonds
redeemable after three years, issued by NHAI uw/s 54EC of the Act.

(1) True

(2) False

(3) Cannot be said with certainty

(4) Is decided by the Assessing Officer

ﬂdﬁﬁlﬁﬂ?@ﬂmﬁf%awmun@mﬁ%’Iﬁm?%a@@@yﬁmﬁﬁﬁ@’n
qﬁi@ﬁwwaﬁwwqaﬁmﬁﬁﬁfﬂ?aﬁ%qﬂasﬁmm@ﬁ
afafrm a1 54EC & arwria Fafa fer s 8

1) ™

(2) SEd

(3) Tifea =7 @ =& &8 Fhd

(4) ax FaRo sftewrd g fea R sma

MPH/PHD/URS-EE-2018 (Commerce) Code-B
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217. Deductién w/s 80G on account of donation is allowed 1:50
(1) Abusiness Assessee only

(2) Any Assessee

(3) Individual or HUF only

(4) None of the above

T 3 dee ¥ grT 80G B S BN Wi Bl ©

(1) Fac T FaEIE Heaw & ol

@) Frlt o s & R

(3) A K IFel W@y &

4) IgF T B T

98. | Deduction ws 80D is allowed if the premium is paid to

(1) Life insurance Corporation

(2) General insurance Corporationorany other insurer approved by IRDA
(8) Life insurance or General insurance corporation |

(4) None of the above |

aT 80D & T B Wi o & af s g fear T

1) e @ Fem

(2) A S BT S e §XeT BN SRR feet o seee

@) e S e gE dE R A

4) o d @ B T

MPH/PHD/URS-EE-2018 (Commerce) Code-B
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29. | Under the head Business or Profession, the method ci_f accounting which

g8 &l

an assessee can follow shall be

(1) Mercantile syétem only

(2) Cash system' only

(3) Mercantile or cash system only

(4) Hybrid system : o
W&Wﬁ&ﬂﬁﬁzﬁ%_ﬁﬂawmmmaﬁﬁﬁmmm

(1) @aq ARG TOTell

(2) daq FBE TTRA

(3) R STl e Al
(4) Tl o

30.

Incomes which accrue or arise outside India but are received directly into

India are taxable in case of

(1) Resident only

(2) Both ordinarily resident and NOR
(3) Non-Resident

(4) All the assesses

i@mﬁ%%wnﬁhmméﬁ%éﬁmwﬁwﬁaﬁ%m
Qg 2l

(1) Faw et & @
2) AR FEr e e AN & [
@) - & W
(@) |f FEaet & W

MPH/PHD/URS-EE-2018 (Commerce) Code-B
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Qu;Ts(fion Questions
31.

‘Consider the following statements :

Planning involves

(i) Forecasting

(1)) Choice among alternative courses of action
(111) Wishful thinking

(iv) Decision only by production manager
Of these statements :

(1) - @), (ii), (iii) and (iv) are correct
(2) (), (iii) and (iv) are correct

(3) (i) and (ii) are correct

(4) (1) and (iii) are correct’
fFrfoias oMl U Ee e

e & anfre @

@) g |

(i) IFfeF FREFT & AA T

(iif) §TT SR O (FETgeR aTeem)
(iv) Fvlg dad SR UeRT BN
ERE R i :

1) @, (), (i) T Gv) 91 B

2) (), (iil) T (iv) @& 8

3) () (i) ¥ &

(4) (i) W (iil) & §

32.

Overall and strategic planning is done by the :

(1) Top management (2) Middle level management

(3) Supervisory level management (4) All of the above

9 T4 OMIE MRS R e g

(1) 9 g+ &R : (2) AEEG 999 &N
(3) ydaws WY Y9 & (4) SgF gl

MPH/PHD/URS-EE-2018 (Commerce) Code-B
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his behalf, it is an instance of

(1) Division of authority (2) Decentralisation of authorit

3) Delegation of authority  (4) Delégation of responsibility

Questio Questions
No. -
33. | If a general manager asks the sales manager to recruit scoe sulesman on

¥

7 P A TERE a el e {98 R a1y B g8 Sad @ a0

el @ o AR A B T T AW

@ R ® R @
(4) ITREMRRT F A %

(1) R & fadee &
(3) ARBR F A H

34.

Consider the following basic steps involved in the proces: ¢ »f conbin

() Identifying the strategic control points

(i) Establishment of the standards

(i) Measuring performance against standards

@iv) Corréci?ing deviation from the standard

D) @, Gv), @), @ @ @), ), G, Gv)
3) (i), (), (iid), ) @ G, Gii), @, ()
Wﬁﬁmﬁwmwwﬁﬂmmﬁ&i@
G) TR s gl (fwd)) @ gesr HTT

(i) TR F BT BT

(iii) AR B FAFAR FART H AT HT

(iv) w2 e & gar HTT

Q) @), G@v), (i), G @ @, @), @), Gv)
@) Gi), @, G, Gv) @ (i), Gid), @, @v)

VIPH/PHD/URS-EE-2018 (Commerce) Code-B
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35. | Anorganisation structure is effective if it enables individuals to contribute

to the objectives of tlhe enterprise. This is known as

(1) Scalar pfinciple

(2) Principle of functional definition

(3) Principle of unity of objectives

(4) None of the above | _
X A rT S ARKEN H 39 A9 S & R 3 wied @ Sewdl @ i
Teaql AMEE X, AAECH B 2| 3 F o &

| QO g spe s

(2) HEITH IR P R

(3) Tkl # Uhal H =

@) v @ P T

36. | While delegating, a superior delegates
(1) Only authority
(2) Authority and responsibility
(3) Authority, responsibility and accountability
(4) Authority and responsibility but not accountability
SRV R T, T I SR SO T
(1) @99 SHEHR F
(2) RER Td SRR H ,
() R, SR @ SR
4) AR T SRaRE P R SeReddl H T

MPH/PHD/URS-EE-2018 (Commerce) Code-B
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87. | Which of the following is true with respect to planning function ?

(1) To make a blue print of ideas and work
(2) To tell the work allocation to all

(3) Monitoring whether the things allocated are done proberly
(4) None of the above

PRt ol & g § Freifhd § A T AR 8 7
(1) FERl @ @ H SRE T
@ af F P AT & &g § qamr

3) mwwﬁﬁwwﬁsmmwmﬁmw%%ﬁwﬁam
g

@) SEE § q S T

38.

Each subordinate should have only one superior whose command he has

to obey. This is known as

(1) Division of work

(2) Exception principle

(38) Unity of Command principle

(4) Authority - responsibility principle

maﬁw%m%ﬁwwﬁmmaﬁqmaﬁww@wm%lﬁ
FEl S &

1) F R

(2) AR & s

(3) ORY A THN F S
(4) fER-SUERE & R

MPH/PHD/URS-EE-2018 (Commerce) Code-B
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39. | In line and staff organisation the staff perfornis the function of
(1) Management

(2) Advising the management

(3) Assigning responsibility

(4) None of the above

WY g Qs dred 7, fdvs w9 axd g

(1) ¥awE @

@ v @ w3

(3) TEE @ A &= &

@) oww A A B

40. | Which one of the following orders indicates the correct logical order of

managerial functions ?
(1) Organising, Planning, Directing, Staffing, Coordination and Control
(2) Planning, Organising, Staffing, Directing, Control and Coordination

(3) Planning, Directing, Organising, Staffing, Control and Coordination
(4) Organising, Planning, Staffing, Directing, Control and Coordination

| Frfefeae & @ @9 & @ qifd BY q GUHE FE B FH H I H S
(1) W, Friem, Fiem, R @, T o R
@) Frivow, e, Frgfe F, R, P o aead
(3) P, e, Ge, PRt , P T @
() W, P, Prae i, Fde, Pl o e

MPH/PHD/URS-EE-2018 (Commerce) Code-B
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41, | Market control process consists

(1) Formation of Performance standards
(2) Performance Appraisal

(8) Correcting Deviations

(4) All of the above

TR Fraeror afear § e ©

| () Froamst wwe @ e

(2) oI gedieT

(3) el 1 GuR

@ SEF el

42. | The marketing plan provides both

(1) The vision and the cost  (2) The vision and the direction

(3) The vision and control (4) The vision and the post
R e @ JeN & @

(1) oEdieT & arE (2) AT T e &
(3) Il @& =T (4) rEEET T G Hebah
43. | Which of the following is not factors of the demand variable, according to
Philip Kotler ?
(1) Environment Variable 2) Competition Variable
(8) Customer Variable (4) All of the above
RERTT o) & orgaR Frefifea & @i-ar d § aRadw @ g T 2 7
(1) WRaw = (2) wfergel =X
(3) WE® =W (4) SugE |l

MPH/PHD/URS-EE-2018 (Commerce) Code-B
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44,

Which of the following is not controllable variable of marketing
management ?

(1) Competitive Environment (2) Technological Environment
(3) Economic Environment (4) All of above

farer geeem ¥ frefoied 9 @ @ @ Freeig =X 9@ e ?

(1) sl g o3 @) T aRa

(3) onfiYfe uRRaw (4) 9 a4l

45.

Promotion mix is the particular combination of promotional tools used by

acompany to ______ with its audiences.

(1) Communicate (2 Help

(3) Purchasing Decision (4) Plan

et el grr dade frsmr & wu F Hadw sl & e fRe gaisT @ s e
ST &, 98 3% WM 8K HXA kil & fod sl 8

(1) a (@ wem

() w4 Rl (@) FRESE

-46.

Which is a base of green marketing ?

(1) Green house gas reduction market

(2) Capital Flow

(3) Programme

(4) Product

frfafad & & -1 09 AT H MER 81
(1) N EREAIHT SO (2) Yol yam®
(3) HrIwH (4) AR

MPH/PHD/URS-EE-2018 (Commerce) Code-B
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47. | The market process involves,‘ which functions ?

48.

(i) Buying - (W) 'Transporting

(iii) Storing (iv) Selling

(v) Grading (vi) Financing

(vii) Risk-bearing (viiil) Dividing

1) @), (ii) and @iv) 2 @, (iij, (i), (vi) and (vii)
(3) Only (iii) (4) All of these

IR SfRr § - H wEARe ¥ 7

@) =4 (i) uR@eT

(iii) HUSRI @) faspa

(v) Sofier (vi) fert weree

(vii) SNTH-T8 (viii) ferarer

) (@), i) @ @iv) @) @), Gi), (i), (vi) T (vid)
(3) ad (iii) 4) 3 @+

Sales promotion includes all promotional activities other than advertising,
personl selling and |

(1) Publicity (2) Advertisement

(3) Production (4) Coupon

fpg e & G Reea s Tttt e € ¥ Rear o, @t Bd @
% BigH|

(1) ¥R 2) fam

(8) IeuEA 4) R

MPH/PHD/URS-EE-2018 (Commerce) Code-B
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49. | Which of the following point is responsible for effective market

segmentation ?

(1) Measurability (2) Easy & accessibility

(3) Substantiality (4) All of the above

TS AR G & Rl e § & Si-ar ge Seead 2§ 7
(1) uRAZa (2) TXar @ SR

3) o (4) Iuge adr

50.

Philosophy of marketing includés :

(i) Product criented marketing

(i) Production oriented marketing

(iii) Sale oriented marketing

(iv) Customer oriented marketing

(v) Social marketing

(vi) Green marketing

(1) 1i,1i,iiiandiv (2) 1ii,iii,ivandv
(3) iii,iv,vandwvi (4) All of the above
e & sefF-gmer § afid @

() TEeE RO

(i) SeEARgE e

Gif) R R

(iv) TeHgE fauer

(v) GHIS fquoE

(vi) T AR

(1) 1i,1ii,1iiTdiv (2) ii,iii,ivi@v
(3) iii,iv,vU@vi (4) SIgE H‘ﬂﬁ

MPH/PHD/URS-EE-2018 (Commerce) Code-B
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o1.

Brand concept not includes

(1) Digital marketing (2) Brand name

(3) Brandidentity and value (4) Brand_personality
§IUS SrERen i T g

(1) fefres ambieT (2) S H M

(3) IS % TEAM W (4) e I A

52.

Which research includes all types of researchers into human motives when
it refers to qualitative research designed to uncover the consumer’s sub

consciousness or hidden motivations ?

(1) Motivational Research (2) Marketing Research

(3) Managerial Research - (4) Price Research

78 a1 orgE ¥ R A iR § G w ST B i e S
IEYE & &9 T g Rear ST § ?

(1) ARMORIRHS STEe (2) faoeM SrgEa

(3) e ST (4) e orgEe

53.

Which is not a method of performance appraisal ?

(1) Straight ranking method (2) Man-to-man comparison method

(8) Check list method (4) None of the above

T - e e B R T 2 |
(1) deh w9 Ry (2) @y & =k @ gen Bl
(3) it g ffy 4) SwgE F q F3 T

MPH/PHD/URS-EE-2018 (Commerce) Code-B
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54. | Arrange the following staffing procedure in the correct sequence

(1) Determining sources of personnel supply

(i) Preparing personnel specifications

(iii) Selection of personnel

(iv) Determining Personnel Characteristics

(1) (i), (@), Gv) and (iii) 2 @), (i), (iii) and (iv)
@) @D, (@), (i) and (v) 4) (@), (i), (i) and @v)
() QamErEr @ YR S il B R

(i) faEtEl @ defE e B AR

(i) FarHRHE F =G

(iv) QareHdl i RQare & FuiRa

(1) (), @), (v) W il 2) (@), @), Gii) T (iv)
(3) @), @), (i) T (iv) (4) (i), (i), @) T @v)

55.

Training information system included

(1) Training aids (2) Internal and external faculty
(3) Training resources (4) Training needs

SRTETeT e Aomel H Qi §

(1) SR e (2) RS Td T HHE T

3) RO gEEE (4) SREST SEEHRTS

MPH/PHD/URS-EE-2018 (Commerce) Code-B
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56. | Anenterprise gets more output and mutual cooperation from its subordinate

| staff by adopting

(1) Motivating by Leadership

(2) Motivation by participation

(3) Motivation by goals

(4) Motivation by Challenges
@mmﬁwmﬁaﬁ&fﬁﬁﬂm@u@qﬁwﬁmmﬂww%uﬁ
98 T HA &

(1) g Ew AT

() weiEn &R AT

(3) & ERT AR

@) TR ar SRR

57. | On the Job Training Methods is based on _
(1) Demonstration Method  (2) Apprenticeship Training Method
(3) Informal Training (4) Allof the above
e i Ry sTaRE @ |
(1) freaer fafr | (2) wfRrg R fafr W
(3) SRS HRETT T (4) SHF Tl W

58. | The concept of Human relations was developed by
(1) Robert Owen (2) V.V.Giri
3) Elton Mayo (4) EdwinB. Filippo
qE dedt @ eEaRen faw B T 9
(1) Y o 2 . 4. AR a7
(3) Twed Al & () wefF &t feiie &l

MPH/PHD/URS-EE-2018 (Commerce) Code-B
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59.

Which among the following are parts of job description ?
(1) Duties performed -.

(1) dJobsummary

(iii) Jobidentification

(iv) Supervision given

(v) Delegation of authority

1) (@), @), (ii) and @[v) (2 (i), (iii), @v) and (v)
@) @), (i), (iv) and (v) @) @), (i), (i) and (v)
P & @9 & FR-av & A 8

G) FraRa R @ @

(i) ®& WA

(iii) P A

(iv) R T e

(v) SRRl @ ARG

@ @), @), i) W () @) (i), Gii), (v) @ (v)
@) @, (i), Gv) T (v) @ @), @), (i) @ (V)

60.

Job analysis provides information used for writing

(1) Organisation chart (2) Policy

(3) Job Description (4) Procedure

m_wwammwm%mmw%
(1) TeIHS Bl Q) i
@) FE R (@) WRRA
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No. Questions

value of the current assets ?

(1) 60,000 ) %1,00,000

3) 1,20,000 (4) ¥1,80,000

afy @ ergud 2 :1 S qur sEdw G X 60,000 & WG
BRI

(1) 60,000 () ¥1,00,000

@) ¥1,20,000 . . (4) ¥1,80,000

61. | If the current ratiois 2:1 and working capital is Rs. 60,000, what is the

Rl BT

62. | Which one of the following is correct

(ii) Liquidratiois also known as acid test ratio
(iii) Rule of thumb for current ratiois 2:1

(iv) Debt equity ratio is the relationship between outsi
shareholders fund .

(1) Only @), (ii) and (iii) are correct

(2) Only (i), (iii) and (iv).are correct

(3) Only (ii) and (iii) are correct

(4) All of the above

Preffed & @9 @ & & 7

() W@Mﬁgﬂﬁﬁwwnﬁﬁﬂﬂaﬂ?ﬂaﬂ%l
(i) wwﬁa@aqﬁmaﬁw%ﬂﬁa%t

(iii) FFEl® &7 | =i, A 2 :1 & g

(1) 3@ @), (i) T (i) @& &)
@) 3 (i), (i) T Qv) T &
@) ¥ (ii) @ (iii) T B

@) sF i w2

(i) Aratioisan arithmetical relationship of one number to another number

ders fuﬁd and

@iv) mwmwﬁ%mmﬁwﬁﬁ%m%mﬁdam%l
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No. Questions
63. | If compounding is done quarterly in year, the effective rate of interst is

equal to

(1) 4 X nominal rafe of interest

(2) (1 +nominal raite of interest/4)*

(3) (1 + nominal rate of interest)/4

(4) All of the above
;ﬁ;ﬁﬁﬁﬁﬁwwﬁw(@m)ﬁmw%ﬁmaﬁqﬁﬁﬂw
(1) 4 x9S H Sffed X

2) (1+=a & sl ax/4)

@) (1+= = sifea &x)/4

@) oG a

64. | Cost of capital from all the sources of funds is called
(1) Specific cost (2) Composite cost:
(8) Implicit Cost (4) Simple Average Cost
Hel & @ Gl B GoN AT FEard &
(1) fafdre @rm | (2) HYH I
(8) oA ar (4) QR ofEd Al
65. | Which one of the following is not used to estimate cost of equity capital ?

(1) External yield criterion

(2) Dividend plus growth rate

(3) Equity capitalisation approach

(4) Capital asset pricing model

T ol Bl A SFGAN B & o P § & R sE Rean o
(1) 9/’ ¥ AI9EIS |

(2) i died gie

(3) FHAT GolIehRoT STEERET

(4) gl geRy Feier dted
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Questions

66.

Liberalization means
(1) Reducing number of reserved industries from higher to lowe number
(2) Liberating the industry, trade and economy from unwanted restrictions

(8) Opening up of economy to the world by attaining international
competitiveness

(4) Free determination of interest rates

TR & A ©

(L) R ST &) e @ e @ 9 e ore gen ¥ FH A °

2 ST AR @ e @ oG (o) ke @ IR &0 @
(3) W@Hﬁmﬁaﬁmaﬂ%ﬁw%mmﬁ@aﬁ%m

() = X g Rt 3 R

67. | When a company taken over another one and clearly becomes the new
owner, the action is called
(1) Merger (2) Acquis_ition
(8) Strategic Alliance (4) None of the above
m%mﬁg&ﬂmﬁaﬁmﬁaﬁamﬁ%ﬁmmﬁmﬁaﬁrwa@%ﬁ
Ut forar el @ | |
1) = | @ ofmEnr
(3) ToMIH A @) SF & @ B Tl

68.

Relaxing the restrictions and controls imposed on Business and industry
means '

(1) Liberalisation (2) Privatisation

(8) Globalisation (4) None of the above

S w A R A T s o P § g 3 @ aed A g
(1) ST (2) fiieTe

(3) A (4) I9gAT & § P T
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69. | Company images and brand equity is factor affecting business
(1) Internally
(2) Externally
(3) Government Policy
(4) None of these
FI @ Bl O AT SRR AR ges ¥ o weEE A yeiE R 8
(1) or=iR® &9 9
(2) & &9 @
(3 W& ¥ |
4) S9gw F & 5 @

7ﬁ. Which among the following is not opened for private sector participation
(1) Power sector (2) Telecommunication sector
3) Education sector (4) Railway
Frfeiad 4 @ 8 ol 83 &) 9rier) & R’ & gear mr & 2
1) ot &= (2) T HEW A
(3) Ruer &= (4) W@

71. | The kinked demand curve explains

(1) Price rigidity (2) Price flexibility
(3) Demand rigidity (4) Demand flexibility
fgfer =i @ T FR7ar @

(1) @ma gear (2) HIF BT

(8) #iT gaar (4) T TEHAT
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Q“I‘f:sgo“ Questions

72. | Imperfect competition was introduced by
(1) Marshall (2) Chamberlin
(8) Keynes - (4) None of these
St SR R Re T
(1) ¥ &N (2) FEfed &R
3). P W 4) T ¥ § B8 T

73. | A situation in which the number of competing firms is relatively small is
known as |
(1) Monopoly 2) ]E-’erfect competition
(8) Monopsony (4) Oligopoly
@Qﬁﬁaﬁrﬁvﬁmﬁmﬁaﬁﬂﬁaﬂmaﬁmmﬁw%
FEawl &
1) wRER @ wf R
®) @ e

74. | Demand is a function of
(1) Price "~ (2) Firm
(3) Product ' (4) Cost
A e 8
(1) T H= (2) % &
(3) AT H (4) AFE &
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75. | Price effect in indifference curve analysis arises
(1) When the consymer becomes either better off or worse off because
price change is not compensated by income change

(2) When the consumer is better off due to a change in income énd price

(3) When income and price change

(4) None of the above

TErHIT @ fasaeer § ua g9 IO o §

(1) Su¥ierT a7 o Sea} R § gin & e T Refa & it dma § g8 aReds
% W F EY RedT @ afgfd T8 8

(2) 9 T T HFd § Rade. B BROT IuHier ot Ry F &ar R

(3) S ¥ T HiFd F GRad 2w 2|

4) Sugw & @ 9 @

76. | Elasticity of demand measures the

(1) Sensitivity of production to changes in a particular cost
(2) Sensitivity of sales to changes in a particular causal factor

(3) Value of price and cost
(4) Volume of product

T & e A9 B § -

(1) frdi faftre @ & qRads & HROT SARS & Siagafear @l
(2) fret faftre aifvaa ae & uReds- & SR fOpg &t g Gafear &t

(8) @M T¥ @G & Ted &
(4) TR FH AT H@
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77. | In the case of an inferior good, the income effect
(1) Is equal to the substition effect |
(2) Reinforces the substition effect

3) Partiaily offsets the substition effect

(4) More that offsets the substition effect

frge aggetl & |eg § o T

(1) SR 599 aET S @

(@) R INE @ gge B 8

(3) SRR T B iR &9 & AR B @
(4) s yoE A AR s aREgRE B 8

78. | What is customer value ?

(1) Ratio between the customer’s perceived benefits and the resources
used to obtain these benefits

(2) Excess of satisfaction over expectation

(3) Post purchase dissonance

(4) None of the above

(2) U & FW TGE F Ao
(3) I IWT SFE
(4) SR T § B T
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7 9.

Which method does not consider the time value of money

(1) Net present value (2) Internal Rate of Return
(3) Average rate of return ~ (4) Profitability Index

P & @ -8 Rt & awa o ) da & 9 A

(1) g% T 5@ (2) HwIRF TAE &
(3) AET TEE W (4) THEEER GEHE
80. | Which of the following has the highest cost of capital ?
(1) Loans : (2) Equity Shares
(3) Bonds (4) Preferences Shares -
i & & freet O ara waifes B 2
(1) T (2) T it
(3) dfvg™ (4) YEiftER g
81. | Which section of Banking Regulation Act 1949 provides nomination for

payment of depositor’s money ?
(1) Section 42

(2) Section 24

(3) Section 110A

(4) Section 452A

AT Rt st 1949 @ BR-d T R B o B S 3 R s
P IR FH 8

(1) 9rT 42
(2) T 24
(3) 91T 110A
(4) 91T 452A
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No. Questions
89. | Relationship of banker with payee of draft

(1) Trustee and Beneficiary

(2) Drawees and Drawee

(3) Licensor and Licenseé

(4) Principle and Agent
wﬂwqﬁa@%wﬁmmﬁﬁaaﬂ%
1) S e @

@) oedE w Sl &

(3) AR T A

(4) vgH T St @

83.

Which of the following statement is true ?

(1) The currency notes issued by RBI are legal tender throughout
the world.

(2) The treasury bills are sold by the RBI for raising its working capital.

8) Al commercial banks, including those owned by government, do not
need a licence from the RBI to do banking business.

(4) The RBIis a banker to both central and state governments.

Prefifa & @ -6 o T § 7

¢y arcdiond T i o g aet f  dm g A

2) mﬂﬁsﬂﬁwﬁ%ﬁﬁaﬂﬁ%ﬁﬁmmmiﬂﬂﬁﬁﬂﬁmﬁww |
2l |

(3) wwaﬁﬁﬁmﬁ%ﬁﬂm%ﬂ%ﬁwm%m
AT A ST AN B SMALIH T Bl

4) Wﬁaﬁ%@wmﬁﬁmﬁﬁ@m%a
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Q“I‘E(Sf‘m Questions

84. | SEBIis ,

| (1) Regulatory Authority (2) Statutory Authority
(3) Both () and (b) (4) None of these |
adl 8
(1) Fams s (2) JuiFe MR
@) () T (2) A (@) SwWw ¥ 4 F3 &

85. | The short term money market -comprises -

(1) The call money market

(2)' The interbank deposit market
(3) The bills re-discounting market
4) Al of the above

AHN A IR aAfed @
(1) ¥ g §ER 2) o 9% AT IRIR
3) foa g wKi aoIR 4) Sugw &=l

86.

Bilateral arrangements instituted to restrain the rapid growth of exports

of épeciﬁc manufactured goods, are called
(1) Administered protection (2) Voluntary export restraints
(3) Imposed export restraints (4) None of the above

3 Feveia T o e S & i st @ Pl 350 @ 83 @ ok @ O
3 R B B, e ¥ |

O R e (@) QRos Pl sEiew

@ 4% @ Peld o () oW A @ 9 T
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Qu&s;mn Questions

87.| Indiaisnot associated with

(1) SAARC (2) NAFTA

(3) BRICS (4) None of these
AT e ar T T &

(1) Q) e

@) ferd @) T § PR T

88. | According to the credit tranche policy of the IMF, credit is made
availablein:

(1) Five tranches, each equivalent to 920% of country’s quota
(2) Four tranches, each equivalent to 25 % of country’s quota

(3) Ten tranches, each equivalent to 10% of country’s SDRs
(4) Four tranches, each equivalent to 25% of country’s SDRs
ﬂé@%ﬁmwﬁm%%m,ma@mﬁmﬁ%
@ dg @vd A TAF o U B B D 20% B WK

2 R @odt # T 9 TE B P B 25% B X

@) &\ @ § i O TG B WA B 10% & ST

G o @t § R o6 T & WANR B 25% B TR

89. | A tariff fails to restrict imports when the demand for imports is
(1) Perfectly price elastic (2) Price inelastic
(8) Of unitary price elasticity (4) None of the above

mmmﬁﬁwmﬁww%mmﬁmaﬁ%

(1) ol e |E @) T e
(3) THE B TWERK YA AU (4) v ¥ q B T
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90. Which_ barrier can be used against recession induced exports into the

‘country ? )

(1) Quotas (2) Voluntary export restraints
(3) Tariff (4) All of the above |

Rt 3 7 A it Pt @ fes B9 @ oy W R o & 2
1) Fa (2) wies fafd sElus

©) 5w (4) ST a4

91. 1s an economic system based on the principal of free enterprise.

(1) Socialism (2) Capitalism

(3) Mixed Economy (4) Marxism

O S S A g e S R O R & S weard 3 -
(1) wEwwER @ Yofar=

(3 M sl (4) HrRdaTE

92. | Privatisation of ownership through sale of equity share is called
(1) Denationalisation

(2) Disinvestment

(3) Contracting

(4) None of these _

T S BT B A { W@ @ Rl deam @

1) ferrsiieer

(2) fafag

(3) 3 3 (GgRm)

@) o F & B
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93. | The Industrial policy resolution was passed first in
1 (1) 1931 (2 1947

(3) 1956 (4) 1999
qedtl X olei i JeE wia e oA
(1) 1931# (2) 1947%
(3) 1956H : (4) 19997

94. | Globalisation is the term used to describe process of removal of
restriction on ‘
(1) Foreign Trade (2) Investment
(3) Both (1) and (2) @ None of the above
%ﬁwwmmﬁ?ﬂmmﬁﬁaﬁﬂ%m%mmw%
(1) fRY amR @) R ~
@) (1) @@ (2) (4) I A A B T

95. | Laissez Faire policy is adopted in_
(1) Socialist Economic system (2) Capitalist Economic system
(8) Mixed Economic system (4) Communist Economic system
TRy SO SR AR T T
(1) quEE e & (Z)lpﬂarcﬂaxﬁarawff
@) b oo ¥ (4) FRfRE oo |

96. | Which of the following is the vital question in the economic system

(1) What to produce (2) How to produce
(3) For whom to produce (4) All of the above
mﬁmﬁ%m—w,%m%mmm%?
(1) T SERd (@) q I B

3) Frod R swid H (4) SogF Tl
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97. | Which of the following is not the objective of Competition Act 2002 ?

(1) Prohibition of abuse of dominant position

(2) Prohibition of restrictive Trade practices

(3) Prohibition of anti-competitive Agreement

(4) Regulation of combinations

Frefofee & @ S-ar gioraaf siifrem 2002 &1 R & B ?
(1) gwager Rafy & gewEm @ Fiy
(2) YIS AWK FqeRl & Ny
(3) wiceqet-faddl argerel & fuy

(4) G H e

98. | The credit for inventing the word “Privatisation” goes to
(1) Elton Mayo (2) F.W. Taylor
(3) L. Urwick . (4) Peter Drucker
Frefieer 9= @ QoW F A A 2
(1) T 3 H - 2) Th. =g, W B
@) w. fF @ @ d A

99. | Graph of variables having linear relation will be

(1) Curved (2) Hyperbola

(8) Straightline (4) None of the above
U = & ARG e W g6y g 8, il

(1) @ (2) IR

(3) i @ (4) Sgw F q B T
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100. | In which files, the records are organised in sequence and an index table is
used to speed up access to the records without requiring a search of the
entire file ? E

(1) Direct files

(2) Sequential files

(3) Indexed Sequential files
(4) None of these

mmﬁaﬁa@ﬂmﬁwmw%wm{&mﬂmm
aﬁﬁ@waﬂuw%q@aﬁ%mm@ﬂmmm%:

| () oW W
(2) FHHIR IR

(3) TEIgd FHAN FlEed
@) T FE T
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1. | If the current ratio is 2 :1 and working capital is Rs. 60,000, what is the
value of the current assets ?
(1) 60,000 (2) ¥1,00,000
(3) 1,20,000 (4) ¥1,80,000
e @Ry ST 9:1 ¥ qur adshE G T 60,000 ¥ & g wHRE F A
B |
(1) 60,000 (2) ¥1,00,000
(3) ¥1,20,000 ' (4) ¥1,80,000
"~ 2. | Which one of the following is correct

(1) Aratioisan arithmetical relationship of one number to another number
(ii) Liquid ratio is also known as acid test ratio
(iii) Rule of thumb for current ratiois 2:1

(iv) Debt equity ratio is the relationship between outsiders fund and
shareholders fund

(1) Only (i), (ii) and (iii) are correct

(2) Only (ii), (iii) and (iv) are correct

(8) Only (i) and (iii) are correct

(4) All of the above

frefofaa & & &9 @ @& © 7

@) W@Mﬁ{&ﬁﬁwmwﬁmaﬁﬂaﬁ%l

(i) T SR B oEid Qe o e S Fed €

(i) TR & A = FPIE 2 :1 & B | |
@iv) ﬂwwa@qﬁ%mwﬁm%w&mwwam%l
(1) ¥ad (@), (i) T (iii) @& 81

@) Faw (i), (iii) @ (v) T &1

(3) ad (i) T (iii) T 2|

(@) SEF w7 2l
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3. | If compounding is done quarterly in year, the effective rate of interst is
equal to ' ;

(1) 4 % nominal rate of interest

(2) (1 + nominal rate of interest/4)*

(3) (1 + nominal rate of interest)/4

(4) All of the above | | '
%ﬁqﬁmmmﬁw(aﬁm)mw%ﬁmﬁqﬂﬁqw
(1) 4 x & & S &

@ (1+= & sifed W/4)

@) (1+== @ s )4

@) SHYR @
4. | Cost of capital from all the sources of funds is called
(1) Specific cost (2) Composite cost
(8) Implicit Cost (4) Simple Average Cost
A B T A B G T Fead ¥
(1) fafare @Fw (2) WgR AT
() oTfEd @M ' (4) TR e AR

5. | Which one of the following is not used to estimate cost of equity capital ?
(1) External yield criterion ‘

(2) Dividend plus growth rate

(8) Equity capitalisation approach

(4) Capital asset pricing model

T G0 A A B AN B B R Feied § @ fRE s e o

(1) 9= @9 HUEeS

(2) w¥igT Gied gis X

(3) Wl YOI SAFERON

(4) ot wmiRy e Afed
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6.

Liberalization means
(1) Reducing number of reserved industries from higher to lowe number
(2) Liberating the industry, trade and economy from unwanted restrictions

(3) Opening up of economy to the world by attaining international |
competitiveness

(4) TFree determination of interest rates

T 4 e Qo ,

(1) e A dEn # O § FH e o wen § & &

@) W @R T e @ omitE (oFER) skl ¥ g FA B
(3) m@uqﬁwﬁaﬁmmﬁw%maﬁawa%@aﬁ%m
4) oo T & JE e @ Rl

P

When a company taken over another one and clearly becomes the new

: A
owner, the action is called _
(1) Merger : (2) Acquisition
(3) Strategic Alliance (4) None of the above
Wﬁémﬁ@ﬁmﬁﬁmm%aﬁmw@waﬁmw
g o Ul R wEeml ®
Q) fawa 2) siftrreer
(3) TMidH e 4) SHF & ¥ &g Tl
8. | Relaxing the restrictions and controls imposed on Business and industry

means _
(1) Liberalisation (2) Privatisation

(3) Globalisation (4) None of the above

o @ S W AT T R o Rt ge % @ e 3
(1) SEEH @) i

@) Bed (@) S A A B
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9. | Company images and brand equity is factor affecting business

(1) Internally
(2) Externally
(8) Government PoNcy

(4) None of these
mﬁaﬁ@@mzﬁaﬁ@m%ﬁw@wﬁaﬁ%

!

(1) oT=iR®% &7
(2 @ &0 d
(3) " Hifa @
4) IgF F & B T
10. | Which among the following is not opened for private sector participation
(1) Power sector (2) Telecommunication sector
(3) Education sector (4) Railway
P & @ Rea Bl &7 @ wied & R 7 @ @ g ?
(1) et & @) T TR &
(3) Rmm &= 4) W
11. | Market control process consists

(1) Formation of Performance standards
(2) Performance Appraisal

(8) Correcting Deviations

(4) All of the above

ok Fra=er ke § it ©

(1) foaes A & e

(2) froaes gt

(8) M=l & guR

(4) g W
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12,

The marketing plan provides both
(1) The vision and the cost

(2) The vision and the direction
(8) The vision and control

(4) The vision and the post

e RS 9T e B ©

(1) SEAET T A

(2) SrEeieA wd R &

(3) SrEcI Td f=ror

(4) SFalHT Td ST Hehed

Which of the following is not factors of the demand variable, according to

13.
Philip Kotler ?
(1) Environment Variable (2) Competition Variable
(3) Customer Variable (4) All of the above
ReRa ek & orfER Freiimaa & @iv-ar 477 § oRac & a9eF 7§ 7
(1) 9RAT =W (2) wioeEt =)
(3) AEH = @) SgF af
14. | Which of the following is not controllable variable of marketing

management ? _

(1) Competitive Environment (2) Technological Environment
(3) Economic Environment (4) All of above

fwn e & frafafed § @ a9 & Feerie == 8 2 7

(1) ufcreagt et qRkas (2) T GRaAST

(3) o uRdst (4) SEw a
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15. | Promotion mix is the particular combination of promotional tools used by

a company to with its audiences.

(1) Communicate

(2) Help

(3) Purchasing Decision

(4) Plan
mmﬁm@ﬂ?ﬁw%wﬁwm%ﬁmﬁﬁﬂz@ﬁﬂmﬁm
ST, 98 SET WY FaEN B a4 B

(1) =97

@ wem

(3) 4 Foig

(CYIRECITE]

16.

Which is a base of green ﬁlarketing ?

(1) Green house gas reduction market
(2) Capital Flow

(3) Programme

(4) Product _

Frefefem & @ Bi-G1 A THET H AR 3|

(1) A9 SSEYHBT TR (2) Isit yaw
(8) oHwH (4) SR
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17. | The market procese in\.rolves, which functions ?
(i) Buying (i) Transporting
(i1i) Storing (iv) Selling
(v) Grading (vi) Financing
(vii) Risk-bearing (viii) Dividing
(1) (), (iii) and (iv) ©@) (@), (i), (iii), (vi) and (vii)
(8) Only (i1) (4) All of these
TR iR A de-a Fd g § 7
@ 4 (i) uREed
(1) HUSRI (iv) fasra
(v) Aol (vi) o=t s
(vii) sHiem-ag= (viii) ferm
@) @), (i) @ @v) @ @, Gi), i), (vi) T (vid)
(8) @ (iii) 4) 3 @ ‘

18. | Sales promotion includes all promotional activities other than advertising,
personl selling and
(1) Publicity | @) Advertisement
(8) Production 4) Coupon
ﬁmwewmmmaﬁamzww arﬁmﬂﬁm@
___ @l BigHK|
1) ¥R 2) oo
(3) SR 4) T
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19. | Which of the following point is responsible for effective market

segmentation ?

(1) Measurability | (2) Easy & accessibility

(8) Substantiality (4) All of the above
Wwa@w%mﬁmﬁf@aﬁaﬁﬁ—mmmﬁim%?
(1) o (2) T T S

(3) g 4) Iugw el

20.

Philosophy of marketing includes :

(i) Product oriented marketing

(i) Production oriented marketing

(iid) Salé oriented marketing

(iv) Customer oriented marketing

(v) Social marketing

(vi) Green marketing

(1) 1i,1ii,iiandiv (2) 1i,iii,ivandv
(8) 1iii, iv, vand vi (4) All of the above
Rove & asie-are § afi @

@) SRE R

(i) SORAE faqu

(iif) ferrargE Fae

(iv) TEHgE faum

| v) i R

(vi) FF AT
(1) i,ii, i iv Q) ii, iii,ivi@ v
(3) iii,iv, vi@vi 4) S@E Tl
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21.

Which section of Banking Regulation Act 1949 provides nomination for

payment of depositor’s money ?

(1) Section 42

- (2) Section 24

(3) Section 110A
(4) Section 452A

%‘ﬁmﬁﬁmaafﬁﬁuqm%ﬁqﬁaﬁwmﬁ%w%w%ﬁﬁm
P FET HA B

(1) RT 42
2) T 24

(3) 4R 110A
4) )T 452A

22.

Relationship of banker with payee of draft
(1) Trustee and Beneficiary

(2) Drawees and Drawee

(8) Licensor and Licensee

(4) Principle and Agent
meqﬁmﬁ%m%mwm&r@m%
(1) s o qreft &

(2) SRl T St H

(3) WEEAR Ud ARE @

(4) "uW Td A &
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23. | Which of the following statement is true ?

(1) The currency notes issued by RBI are legal tender throughout
the world.

(2) The treasury bills are sold by the RBI for raising its working capital.

(8) All commercial banks, including those owned by government, do not
need a licence from the RBI to do banking business.

(4) The RBI is a banker to both central and state governments.
Prafifed & @ PiF-81 B9 T 8 7

(1) ez fria o @ et s § da g A R

(2) G fﬁ@ﬁawﬁ%mmﬁmmaﬁﬁﬁﬁwﬁmmw
gl

(8) wmﬁﬁmﬁﬂwﬁﬁmﬁaﬁ%ﬁaﬁﬂwmﬁ%m
FRTE | TS o & STaEHd el el |

@) ARAE 5 TG T G A 1 Ja e § |

24. | SEBlis

(1) Regulatory Authority
(2) Statutory Authority
(3) Both (a) and (b)

(4) None of these

ol &

(1) Fams e

(2) Qe SRR

3) (1) @ (2) <

4) IwdE ¥ & B T

MPH/PHD/URS-EE-2018 (Commerce) Code-C
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25. | The short term money market comprises

(1) The call money market

(2) The interbank deposit market

(3) The bills. re-discounting market

(4) All of the above

SR T AR Wi § |

(1) T HET AN (2) o 9% FET TR
(3) o g HEdt O @) SwgE |+l

26.

Bilateral arrangements instituted to restrain the rapid growth of exports

of specific manufactured goods, are called
(1) Administered protection (2) Voluntary export restraints
(3) Imposed export restraints(4) None of the above

3 famei @ o e s & Fiftfa @ @ Frafa 3§ 960 & 89 Al gfs @ T
3 fd fRY 1§, sean

(1) afted | 2) wfes Fafk sEdus

(8) oI g3 Frld SrEdu® (4) IugF | | B T

27.

India is not associated with

(1) SAARC @) NAFTA

(3) BRICS (4) None of these
1) "= (2) T

(3) foea @) T q Fg T

MPH/PHD/URS-EE-2018 (Commerce) Code-C
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Q“ﬁ%fon Questions
28. | According to the credit tranche policy of the IMF, credit is made
| availablein : -
(1) Five tranches, leach equivalent to 20% of country’s quota
(2) Four trancheseach equivalent to 25 % of country’s quota
(8) Ten tranches, each equivalent to 10%. of country’s SDRs
| @ _ Four tranches, each equivalent to 25% of country’s SDRs
TETITH & @E ARG GG A $ SIHR, WG I H Sl 8
(1) U= GueSt § 9 I T & i b 20% B TR
(2) IR @S § JAE 39 UK B Pl & 26% B S
(3) T4 @USl ¥ Ud% 39 UK & THSIeN & 10% & sXEY
(4) IR TSl § UAF 3G UK P THSRIX & 25% B SR
29. | A tariff fails to restrict imports when the demand for imports is
(1) Perfectly price elastic (2) Priceinelastic
3) of unitary price elasticity (4) None of the above
Eﬁ\%‘ﬂ%ﬁﬁmﬁﬁnﬁaﬁﬂamﬁﬁww%mmﬁﬂwm%
(1) ol g4 e @ I Frm
(3) IHE F WA A AW (4) SWYF ¥ § F T
80. | Which barrier can be used against recession induced exports into the

country ?

(1) Quotas (2) Voluntary export restraints.
(3) Tariff ' (4) All of the above

Rl 2w & W e Pl 3 Res @9 @ oy WA R o § ?
(1) e (2) Qitss FEa FaTw

3 " | (4) ST T
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31. | Recruitment and selection involves the following except
(1) Building a pool of candidates

(2) Completing application form by applicants

(3) Reduction of the work force

(4) Employment planning and forecasting

Wit o e | wiid & e

1) =R & @ E (TE) & R A F

(2) AEH ERT -0 H T &

(3) F =@ § T A &

(4) AR FRSH W QA #E @

32. | Where a partner transfers any capital asset into the business of firm, the

sale consideration of such asset to the partner shall be

(1) Market value of such asset on the date of such transfer

(2) Price at which it was recorded in the 5ooks of the firm
(8) Cost of such asset to the partner
(4) None of the above

mmww%wﬁm@mmm%ammwm
R 39 dEER & @9 8

(1) s&wRY & A o) TE i B e

@) T 7 P W 58 T @ o B gee 7 st R e
(3) WEER & fva T T @ @

(4) Sww ¥ @ B T

MPH/PHD/URS-EE-2018 (Commerce) Code-C
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33. | Dividend paid by an Indian company is
(1) Taxable in India in the hands of the recipient
(2) Exempt in the hands of recipient

(3) Taxable in the hands of the company and exempt in the hands of the

recipient
(4) None of the allbove
@ AR F g R T i
(1) wasdt & il 9Ra # & 9
) mﬁm%wﬁgw .
@) T 3 R @ A @ e S R w g
(4) SwEF § § B T |

34, Agricultural income is exempt provided the

(1) Landis situated in India

(2) Land is situated in any rural area of india

(38) Land is situated whether in India or outside India
(4) None of the above

FN o FX JH & I

(1) 9f wRa § Rea @

@ o wRa & Reeh amfor & # fer 3

@) o @ A ard § Ruq ¥ ol WRA & AR}

(4) I ¥ B T |

MPH/PHD/URS-EE-2018 (Commerce) Code-C
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~ 35. Deduction under section 80C shall be allowed for

(1) Any education fee

(2) Tution fee exclusive of any payment towards any development fee or
donation or payment of similar nature

(3) Tution fee and annual charges

(4) None of the above

gRT 80C & SRIT Beri g6 09 Wil &l

(1) F5 R b

@) RbE g GO A e g R § o SEK 3 gEE H BIgHT
R Job (T BiE)

3) fmn g w afis I

4) SEF F ¥ FE T
36. | As per the RBI’s clean note policy writing on a currency note is
(1) An offense (2) A crime
(3) A punishable offence (4) The notes becomes non- -legal tender
mﬁa@ﬁwaw%%mwgmwwm%
(1) @ (2) TH A |
3) T TeE AW (@) w-g R g @ SR
37. | Which of the following is the latest buzzword among bankers ?
(1) Social banking (2) Financial inclusion
(8) Massbanking (4) None of the above
Y & mer FrefoRed § @ SA-a1 FHa I weEe 7 ©
(1) amfe ST (2) Tl waEee

(3) S e dfeT (@) S ¥ § B3 T
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38. | The portion of total deposits of a commercial bank which it has to keep

with RBI in the form of cash reserves is termed as
(1) CRR (2) SLR
(3) Bank Rate (4) Repo Rate

ﬁ?&ﬁﬂﬂﬁiﬁ%%@ﬁ%@fﬁﬁgmﬁaﬁmﬁaﬁ%wmwamﬁ
Tl IS § e o

(1) ¥R (2) TSR
3) ¥ @ W=

39.

For Indian banking, the 1st August of every year is observed as
(1) KYC Compliance Day '

(2) KYC Compliance of AML Days

(3) Computer Security Day

(4) KYC Compliance and Fraud Prevention Day

areg AT § giq af 1 oFRG W SR @

1) I oueH W & &9 F

©2) FIEW oFuEH F U Rag & w9 A

(8) FYX Y feaw & w0 A
@) FIEH TP @ F9C FaRe Raq & w9 F

40.

Real Time Gross Settlement (RTGS) is management by
(1) State Bank of India (2) Reserve Bank of India
(3) Indian Bank Association (4) Government of India
Raw o=y e Aeade (ARASITE) F1 Jaw B o &

(1) 9K ®e 9% &/ (2) ARG Red &% &
(3) WRdW dH & wH AW (4) ARG THER &
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41.

Consider the following statements :
Planning involves '

(1) Forecasting

(ii) Choice among alternative courses of action
(i) Wishful thinking

(iv) Decision only by production manager
Of these statements :

(1) @), (i), (iii) and (iv) are correct
(2) (@), (iii) and (iv) are correct

(8) (i) and (ii) are correct

(4) (ii) and (iii) are correct
frfaiad #ol W M &g

frdem & e @

@) g

(i) ofeas FEERT & " =GN

(i) =BT G 4RO (IR GIO)
(iv) Mol Had IET TS gwl

e F H |
aummMmmw%

@ @), (i) T Gv) ¥ &

(3) () (i) ¥ &

(4) (i) oo (iid) ¥ B

42,

Overall and strategic planning is done by the :

(1) Top management (2) Middle level management
(8) Supervisory level management (4) All of the above

T @@ I e R S g

(1) o gy & (2) WY T &R

(3) wawE WA S &} (4) SF a

MPH/PHD/URS-EE-2018 (Commerce) Code-C
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43. | If a general manager asks the sales manager to recruit some salesman on

his behalf, it is an instance of _
(1) Division of authority (2) Decentralisation of authority
(3) Delegation of authority  (4) Delegation of responsibility

qﬁﬁﬁmwwwmﬁmww@%waﬁﬁ%mwa@ﬁm
el 3 orft R A T T ST A

1) ofeR 3 Reee & . (2) AR F RS @
@) ofER & TRUT F 0 (4) SUERE & AR H=

44.

Consider the following basic steps involved in the process of control :
() Identifying the strategic control points

(ii) Establishment of the standards

(iii) Measuring performance against standards

(iv) Correcting deviation from the standard

1) @), @), (i), (i) @ @), G, i), Gv)

| ® @), @, @), Gv) @ @), Gii), @, Gv)

RrgerT 2 SR @ T Friifed STER =X @ Eee J i
() o e el (v @ geEs B

() e @ eRa F

(i) TRl & AR feures &1 AU BT

(iv) T @ g4 R @ GOR &

1) @), Qv), (i), (i) @) @, @), (i), Gv)

@) Gi), @), (i), (v) @) @), (i), @, Gv)

MPHIPHD/URS—EE—2018 (Commerce) Code-C
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45. | An organisation structure is effective if it enables individuals to contribute

to the objectives of the enterprise. This is known as
(1) Scalar principle
(2) Principle of functional definition
(3) Principle of unity of objectives
(4) None of the above
W@Wﬁﬁaﬁﬁﬁﬁ@ﬁ%ﬁﬁ&%%@ﬁaﬁmﬁ
st AT R, SRR SR B 5 e o &
0 s s i
(©) wiers dReT # AR

(3) TRyl @l wEwal B R
@) v A @ B @

46. | While delegating, a superior delegates

(1) Only authority

(2) Authority and responsibility

3) Authoi"ity, responsibility and accountability

(4) Authority and resp onsibility but not accountability
T Y, T I SR ST FA &

(1) Faq SAHT B

) SfER Tg I &

(3) SR, SOREE T Jueedd &

4) SRR T SEREE g STReddl H Tl

MPH/PHD/URS-EE-2018 (Commerce) Code-C
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47.

Which of the following is true with respect to planning function ?
(1) To make a blue print of ideas and work
(2) To tell the work allocation to all

(3) Monitoring whether the things allocated are done proberly
(4) None of the above

e e & gy | Freifed § @ T 99 R 7

(1) ﬁﬁiﬁ@mﬁmaﬁﬁr

(2):“%rﬁraﬁrzﬁrdfawa‘aﬁa'affm |

@) W T & Frieer & B R F @ dear e T § 9 /) S & W@
)

4 SFYF F q R T

48.

Each subordinate should have only one superior whose command he has

to obey. This is known as

(1) Division of work

(2) Exception principle

3) Unity of Command principle

(4) Authority - responsibility principle _
T% e & Y Paw 0 qHded AN IR Rres STRY H 3@ IR HT 1
Fel Sl @

(1) @ faaeE

(2) AER @ s

(3) STRY P THaT N R

(4) HfER-IEReE & R
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49. | In line and staff organisation the staff performs the function of

(1) Management

2) * Advising the management

(3) - Assigning responsibility

(4) None of the above

Y @ R ge #, Rdew i F@ €
(1) 94T @l

@ e @ T A A

(@) SRaIE @ SiEwied BT B

(4) SogE & A F Tl

50.

Which one of the following orders indicates the correct logical order of

managerial functions ?
(1) Organising, Planning, Directing, Staffing, Coordination and Control
(2) Planning, Organising, Staffing, Directing, Control and Coordination

(3) Planning, Directing, Organising, Staffing, Control and Coordination
(4) Organising, Planning, Staffing, Directing, Control and Coordination

ﬁqﬁ@aﬁﬁﬁqmmmﬁmmﬁw@ﬂm%maﬂﬁam%:
(1) @R, Ry, Pfer, P @, @ @ FEe
@) Py, ©e, Py @, FRe, P o #
@) P, P, dTed, PR #1, FrE=eT og. T
4) e, oo, Prgfe @, Fem, R o &
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51. ______is an economic system based on the principal of free enterprise.
(1) Socialism (2) Capitalism
(3) Mixed Economy (4) Marxism '
Tl oniie e S g SaM 3 Rer W STIRG S & Feal |
(1) TR @ fhew
3) i@ sremae (4) "EEE

52. | Privatisation of ownership through salé of equity share is called

(1) Denationalisation

(2) Disinvestment

(8) Contracting

(4) None of these

quar Sig o ReR & wrem { @i & el e §

53.

(1) s
) faf@g
(3) 3w A (SpRER)
@) SR F |/ A T
The Industrial policy resolution was passed first in
(1) 1931 (2) 1647
(3) 1956 (4) 1999
Tedl S) SlERee A S aikd far e
@ .1931% ) 1947%
(3) 1956% (4) 19994

MPH/PHD/URS-EE-2018 (Commerce) Code-C
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restriction on

54. | Globalisation is the term used to describe process of removal of

(1) Foreign Trade | (2) Investment

(3) Both (1) and @) (4) None of the above
aﬁwmmmﬁquﬁmaaﬁa&m%mmw%
1) e =R @) FaT

@ O @ (@ o X & B

55. | Laissez Faire policy is adopted in
(1) Socialist Economic system
(2) Capitalist Economic system
(3) Mixed Econqmic system

(4) Communist Economic system

gww%mw%: |
(1) weER s (@) Gotard) s &
@) Tl e | (4) FRfE SEEE |

56. | Which of the following is the vital question in the economic
(1) What to produce (2) How to produce

(3) For whom to produce (4) All of the above |
ﬁmﬁf@aﬁéﬁﬂ—m@aﬁw%mw@m%?

(1) 0 Sed B 2) HQ TmRd B

(3) Tod R oRE & (4 I

system

NMPH/PHD/URS-EE-2018 (Commerce) Code-C
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57.

Which of the following is not the objective of Competition Act 2(502 ?
(1) Prohibition of abuse of dominant position

(2) Prohibition of restrictivé Trade practices

(8) Prohibition of anti-competitive Agreement

(4) Regulation of combinations

ﬁmﬁmﬁﬁ%ﬂﬂ—wmmﬁmmmwaﬁwaﬁ%?
(1) wwEgt Rl & 3o & Fog

(2) ufteFaTES AR Ader @ Fuy

(3) wfereqai-fde ergeral & Ay

(4) daoE & FEEe

58.

The credit for inventing the word “Privatisation” goes to
(l)l Elton Mayo (2) F.W. Taylor

(8) L. Urwick (4) Peter Drucker
Felir =z B @M & 4G S ¢ |

(1) U J4 & (2) Th. <Y, W Hl

@) . offF @ (4) X T A

59.

Graph of variables having linear relation will be

(1) Curved (2) Hyperbola

(3) Straight line (4) None of the above
o0 9 & omtd R Y day A B, A -

(1) @k (2) StfaRawd

(3) @i Y@ - (4) ST # A B3 T
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60. | In which files, the records are organised in sequence and an index table is

used to speed up access to the records without requiring a search of the
entire file ?

(1) Direct files

(2) Sequential files

() Indexed Sequential files
4) N01:_1e of these

o wEw | eiral & F aRya R s & qr B gl wee B e
REl & e § ugen & fod qife e @ wEer R o g

(1) T B

61.

(2) HHAR G

(3) el AR T

@) T q 3K T

The kinked demand curve explains

(1) Price rigidity (2) Price flexibility
(3) Demand rigidity " (49 Demand flexibility
forgpfera AT as swEAT Y R |

(1) @ ge (2) @Ma T

(3) T goam - (@) =T FEE

62.

Imperfect competition was introduced by

(1) Marshall | (2) Chamberlin
(3) Keynes (4) None of these
el aREREr R R : |
(1) = a@w | @) Ami &

@) W T @ T ¥ FE T

MPH/PHD/URS-EE-2018 (Commerce) Code-C
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63. | A situation in which the number of competing firms is relatively small is

known as
(1) Monopoly (2) Perfect competition
(8) Monopsony (4) Oligopoly

w&ﬁﬁaﬁﬁaﬁﬁwﬁﬁmﬁwﬂﬁa@rwﬁmam%
e &

(1) THRER (2) b R

(3) el (@) R
64. | Demand ié a function of

(1) Price (2) Firm

(3) Product (4) Cost

A B 8

(1) @ H @ @

(3) S B (4) dFE @
65. | Price effect in indifference curve analysis arises

(1) When the consumer becomes either better off or worse off because
price change is not compensated by income change

(2) When the consumer is better off due to a change in income and price
(83) When income and price change

(4) None of the above

SerdeeT 9% fagawr § a9 S el §

(1) S a1 & Jeax Refy & A ¥ o gow Rafy F s a7 g2 oRewd
# o F g WRacd & afgfl T & arit
(2) mmﬁmﬁm%wmaﬁmﬁm%l

(38) @ oY Td e F qRed S §
4) SHEE # q F T
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66.

Elasticity of demand measures the

(1) Sensitivity of production to changes in a particular cost

(2) Sensitivity of sales to changesin a particular causal factor
3) Value of price and cost

(4) Volume of product

R ) A A B -

(1) Frit R e ¥ ORad § FROT S B SR B

@) P R ot T 3 e & e R @ R SR
(3) @Wd w A & G B |

(4) SR D HAET H

67.

In the case of an inferior good, the income effect
(1) Is equal to the substition effect

2) _Reinforces the substition effect

3) ‘Partially offsets the substition effect

(4) More that offsets the substition effect
Frpee awgell & Go9 § o N

(1) SRR 919 & STET e o

@) RRE 99 H GEE A &

(3) SR gE e w9 & R e

(@) SRR S @ ol ot SRR B B
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68.

What is customer value ?

(1) Ratio between the customer’s perceived benefits and the resources
used to obtain these benefits

(2) Excess of satisfaction over expectation

(3) Post purchase dissonance

(4) None of the above

ek e 18 7

(1) TeF 3 TN TegE B T ANl @ o Al @ ww & 3w R
- HEE & 99 Sgu

(2) TN & FW GG @ e

(3) Y YT ST

4) SEw q q #E T

69. | Which method does not consider the time value of money
(1) Net present value (2) Internal Rate of Return
(3) Average rate of return  (4) Profitability Index
R & & - Ry @9 0 @ W J T A
(1) = THE T (2) eTai® J@d &
(3) ofd WU & (4) THEREEA GEHD

70. | Which of the following has the highest cost of capital ?
(1) Loans (2) Equity Shares
(3) Bonds (4) Preferences Shares
Freifofee & & Rt Ot o Wl 2 7
(1) =7 (2) W
(3) dvgg (@) TERER S
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71. | Correlation between income and demand is
(1) Negative (2) Positive
3) Zero (4) None of the above
o W@ AT B " weddd o g
(1) FMHSE S () TS :
@) = @) I F q HE T
72. | MIS stands for ?
(1) Multiple Information System
(2) Maximum Information System
(3) Management Information System
(4) None of the above
TAETE § R @
(1) g FaT Yo (2) kA gEAT qoml
(3) S I SO (@) SR F q§ PR Tl
78. | ____ isthe term given to any system of reorganiztion of data items within

a file, where the reorganisation is independent of the information content
of the file. _

(1) Printing (2) Maintenance
(8) Copying (4) Merging
Rt et 3 oSt S T o QR A S 9 o g e
i o aonl & qRefaet @ w6 § qoieas @ #e ST @
(1) & L Q) g

(3) iR (4) onvg F Fram 3
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74. | In which files, the records organiséd in such a way that it is possible for

the computer to directly locate the key of the desired record without
having to search through a sequence of other records ?

(1) Direct Files

(2) Sequential files

(3) Both (1) & (2) above

(4) None of these

ReT BT  SRRE @Y 39 YR aaiyd R o @ fF FgeR @ 8 o sftd
aﬁwﬁaﬁm&m@ﬁmmaﬁaeﬁamaﬁ@wﬁﬁﬁaw
g 8 ?

(1) I IR

(2) STTEAE FETH

(3) (1) @ (2) I

(4) I ¥ q Hg T

75.

Relationship of two or more variables is examined excluding some other
variables in case of

(1) Total correlation

(2) Partial correlation
(3) Multiple correlation
(4) None of the above

@mﬁaﬁ@sﬁgﬁaawﬁﬁmaﬁ%qmwamwﬁm
el ¢ -

() T weEEy

(2) ik dedsy
(3) gl wewdy
(4) IgF ¥ F3 T
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Question :
No. Questions
76. | In the calculation of return on shareholders’ investments the referred

investment deals with

(1) All reserves

(2) Preference and equity capital only
(3) All appropriations

(4) All of the above

SiqafEl & REEA W SEE @ T e 3 e denid e @ aed
G

(1) & g
(2) P9 QiR Ud AHl g &
(3) @it faf=ret 4@
4) vwgE wh @

71.

Dividing the net profit by the paid up amount of equity share capital
yields ' -

(1) Temporary investment

(2) Earning per share

(3) Rate of return on equity share capital

(4) None of the above :

9 AT B I Slget A R A B AW ¥ T a3/
(1) o fafEm |
(2) wicsiar o

(3) T SHAYSH W A Bl &

(4) v & § B T
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Question :
No. Questions
78. | The return on investment (ROI) may be calculated as

(1) Net profit before interest, tax and dividend / Capital employed-
(2) Net profit after interest, tax and dividend / Shareholder’s fund
(3) (Net profit - preference divided) / No. of equiﬁy shares

(4) Return on Investment / Net profit ratio

T &Yy (IR oTE) &1 TOWT 36 dRE @ @ o Gl B

(1) =, %X 09 dia | g o /fafriia o

(2) &M, FX TG A I9ER J& O /AeEl B By

3) (Y= T-YRTRr qsie) /aar Sfsh B wen

(4) ffEM W gEE/gE O eI

79.

The major sources where from debentures can be redeemed are
(1) Profits

@i1) Capital

(iii) Provisions made for redemption

(iv) Conversion into shares or new debentures

Select the corrent answer using the codes given below

(1) @), (iii) and (iv) (2) () and (iv)

(3) (iii) and (iv) @) (), (i), (iii) and (iv)
TqE Wi o &R RO @SS 6T S @ © 9 8

(@) ™

@) g

(i) MV & R 9@ T T@as

(iv) & ForEl areEn el & uReqw

o A’ R o FR g W W H O i
(1 @, (i) @ [Qv) @) () (v)

(8) (iii) T (iv) @ @@, @), (iii) T [v)
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Question 4
No. Questions
80. | Which of the following profits are capital profits ?

(i) Profit prior to incorporation

(1) Premium received on issue of shares or debentures
(iii) Profit made on redemption of debentures

(iv) Profit set aside for redemption of preference shares

Select the correct answer using the codes given below

(1) (i), (1i1) and (Gv) (2) (@), (1) and (v)
@ (@, @) and (v) @ (), ), (iii) and Gv)
Rrffee & @ @ @ @ Go e &

() 9HeT @ $ e

@) oig Srger FOTEl & R o it

(iii) FOE P A R AR A

(iv) EifERR Sish & hes & fod <@ ™ @

Y R R @ T B g T W H = B

81.

(1) @), (iii).wd (v) ©2) @), (iii) T ({v)

@ @, () W @) @ @, @), (i) @ @Gv)

Which of the following is the best example of Agreement between
Oligopolists ?

(1) GATT . (2) OPEC

3) WTO (4) UNIDO

Freieiad 3 & BiF-T1 SRIRERal & AT TR B AT Saell 8 ?

1) Tk ©2) M

(3) s=gde | 4) e
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Question

No. | Questions

82. | Which of the following is true about the Board of Governor’s of IMF ?
(1) They meet once a year |

(2) They ma& vote by mail at other times except the annual meeting
(3) Both (1) and (2)

(4) They are elected annually

TR B G Hed B Gl » werg § frefored § 1 9§ ?

(1) F9¢ ¥ & aR P &

) aﬁ%wﬁ@wmﬁﬂhwﬁaﬁamwaﬂm%

3 (1) T (2) I

@) 2 affe &5 § g o1 &

83. | The con:;panies globalise their operations through deficient means
(1) Exporting directly (2) ILicensing/ quanchising

(3) Joint venture - (4) All of the above

el ot s TR @ e e & s F g
(1) wegerey @ fald F (2) SR/l &

(3) €IH SEHH & (@) IWgF G AN
84. | SDR’s are popularly known as

(1) Currency Notes (2) Paper Gold

(3) Silver Coin (4) Gold Coin

TAEINR H AT S S 8

(1) S Aieg & &9 2) IR M & &9 A

(3) fueer FaRA & &9 H (4) Mes FRA & &9 |

MPH/PHD/URS-EE-2018 (Commerce) Code-C
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Q“;Tiﬁ““ Questions

85. | The components of WTO are
(1) Ministerial conferernce
(2) Disputes settlement body
(8) Director General

(4) All of the above

sgdel & o 8

(1) w ®{E qHae

2) far Fuern Fed

(8) HelfHasr®

(4) ST weq

86. | Capital gain of Rs. 75 lakh arising from transfer of long term capital

assets will be exempt from tax if such capital gain is invested in the bonds
redeemable after three years, issued by NHAI u/s 54EC of the Act.

(1) True

(2) False

(8) Cannot be said with certainty

(4) Isdecided by the Assessing Ofﬁcer | |
ST Gl FRRY & SRR @ ST 8 arn < 75 A S A B R 8
qﬁ{ﬁwaﬁmmwﬁmﬁﬁa?ﬁqaﬁ%qﬁrﬁsﬁma@ﬁ
FtEn O 54EC & St AR R o & |

1) &

(2) oEd

(3) fifiem &9 € &l %8 Tebdl .
(4) FX FaRer el g ol /e s

MPH/PHD/URS-EE-2018 (Commerce) Code-C
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No.

Questions

87.

Deduction u/s 80G on account of donation is allowed to
(1) A business Assessee only

(2) Any Assessee

(8) Individual or HUF only

(4) None of tlhe above

aM & ga § a7 80G B ST FHAl Wiggd el &

(1) %99 TF HGQH Ha &

2) Bl @ FE & W

(3) *a@ Ak U THYTH B 7

4) Swgw § § B

88.

Deduction w/s 80D is allowed if the premium is paid to

(1) Life insurance Corporation

(2) General insurance Corporation or any otherinsurer approved by IRDA
(3) Life insurance or General insurance corporation

(4) None of the above

g 80D 3 STl HA Wiepd e § AR i @ o Rer

(1) Sffe i Frm

(2) T A R @ S T N AR Rt o e @

(3) ofaw i ererar wER S R

(4) SwF ¥ § B

MPH/PHD/URS-EE-2018 (Commerce) Code-C
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89.

Under the head Business or Profession, the method of accounting which
an assessee can follow shall be

(1) Mercantile system only

(2) Cash system only

(3) Mercantile or cash system only
(4) Hybrid system

FIUE 1T U SfuE & STRTId Th HRall &N ATk &l N TR ST S
ag gt

(1) P RS ST
(2) Fad THE TUIA

(8) ARG Sl Tebs FOMdl
(4) ¥ gome

90.

Incomes which accrue or arise outside India but are received directly into

India are taxable in case of

(1) Resident only

2) Both ordinarily resident and NOR
(8) Non-Resident

4) All the assesses

Wmﬁw%wwﬁﬂﬁmwaﬁ%ﬁﬁﬁwﬁwaﬁw%m
g g

(1) Faa Fadl & kil
(2) wERoEEr Far od el A % R
) R-Fafad &
(4) Ot FEEel & [/l
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No.

Question|

Questions

91.

Brand concept not includes
(1) Digital marketing (2) Brand name

(3) Brandidentity and value (4) Brand personality
s sryren § afaki T2 §

| ) febrea Al (2) S8 H =

(3) U8 %l Y@= W& I (4) 98 H AfFd

92.

Which research includes all types of researchers into human motives when
it refers to qualitative research designed to uncover the consumer’s sub

consciousness or hidden motivations ?

(1) Motivational Research  (2) Marketing Research

3) IManagerial Research (4) Price Research
%%—maﬁm%ﬁﬁwaﬁﬁrﬁﬁmwaﬁwﬁmmw
S o o €8 TURT B oA o g gl SRRl @ St & R e
SEIN & &0 ¥ R R S § 7

(1) AT SR 2) frqer Srgaer

(8) UeFgHY ST (4) i STIHEN

93.

Which is not a method of performance appraisal ?

(1) Straight ranking method (2) Man-to-man comparison method

(8) Check list method (4) None of the above

7 B Froaeet e ) R T 3 2

1 af = R (2) @ § @[ @ ge o
(3) sira = fafy (4) SwE ¥ q§ Bi5 T
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Question E
No. ~ Questions
94. | Arrange the following staffing procedure in the correct sequence .

@ Determining sources of personnel supply

(ii) Preparing personnel specifications

(i) Selection of personnel

(iv) Determining Personnel Characteristics

M) G, @), Gv)and @) @ @, @), (i) and (V)
@) (i), @), (i) and (iv) @) @), (i), () and ()
el Frafer SGr 1 W A X ot Ao

Q) daniEt @ ongR & G @ FEe

Gi) JarEhE A el RfR # TR S

95.

(iii) QR BT

(iv) darepridl @ Rdoael &1 e

@ (@), (@), Gv) @ (i) @ @), @), (i) @ @v)

@) @), @), (i) W@ Gv) @ (@), Gib), @) @ @)

Training information system included |

(1) Training aids (2) Internal and external faculty
(8) Training resources (4) Training needs

SfarT e ST & i 2

(1) SREY e (2) A=IRG @ I A T
(3) SRwEeT W (4) SRR STEEHA
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Q“ﬁsf"“ Questions

96. | An enterprise gets more outpﬁt and mutual cooperation from its
subordinate staff by adopting *
€)) Motivating by Leadership
(2) Motivation by participation
(8) Motivation by goals
(4) Motivation by Challenges
Th FEH ST Hedh Al & ol ot oTeeye U qReuRe qEdT Wra e 8
i g8 ARY e @ |
(1) T ER SRER
(2) weHiEn & SIREReT
(3) Tl BRI SR
@) TR ER eReRe

97. | On the Job Training Methods is based on
(1) Demonstration Method (2) Apprenticeship Training Method
(3) Informal Training (4) All of the above
FE W R fafy s &
(1) fFreger iy w (2) ufrg ufererr fafr @w
3) FEIRG TRET | (4) I@H g |

98. | The concept of Human relations was developed by
(1) Robert Owen @ V.V.Giri
(3) Elton Mayo (4) Edwin B. Filippo
MG Hedl &l SauRen R @ o
(1) T SN g @ 4. & AR ™
®) T AR g (4) TSR . fefed g
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No. Questions
99. | Which among the following are parts of job description ?

(i) Duties performed

(i) Jobsummary

(iii) Job identification

(iv) Supervision given

(v) Delegation of authority

(1) (@), (), (i) and (iv) @ (i), (i), Gv) and (v)
3) @), (i), (v) and (v) 4) (), (i), (iii) and (v)
Friifed & i & FR-ai S A 8

() FeafRa R @ ad

@) #d awi |

(iif) R SRE

(iv) Rar mar wdaeer

(v) SIERRY H ARET

@ @, Gi), (i) @ @v) @) Gi), (i), G(v) E@ (V)
@) @), (i), (v) @ () @ (), (i), (i) @ ()

100.

Job analysis provides information used for writing

(1) Organisation chart @) Policy

(3) Job Description (4) Procedure

et R g a7 S e ST Y R e oI 2
(1) HrReds sREl 2 Hifa

@ fer (4) SR
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No. Questio

1. | Which of the following is the best example of Agreement between

Oligopolists ? ,

(1) GATT (2) OPEC

(8) WTO (4) UNIDO
ﬁwﬁ@aﬂﬁﬁﬂ—mmﬁmﬁﬁ%quﬁﬁﬂmm%?
1) e 2) oniw |

3) s=ydien @) st

2. | Which of the following is true about the Board of Governor’s of IMF ?
(1) They meet once a year ' ' ; |

(2) They may vote by mail at other times except the annual meeting
(3) Both (1) and (2)

(4) They are elected annually

TG & Tad Hed B Wl & qeeg § Fraiad § = wé e ?

(1) 39 § o oW fred & | |

(2) it T S BleHT o R T off & A &R ARH X Wbd €
@ @) @ (2)

4) ¥ affs &7 & g3 o ¥

3. | The companies globalise their operations through deﬁcien?, means
(1) Exporting directly (2) Licensing/Franchising

(3) Joint venture ~ (4) All of the above

FHTEl TRl e IRfREr @ Frafiiad wem § g S ¢
(1) veerEd § w4 (2) EEERT/heEEST R

(3) HIH IFHH & (4) Igw afl g™
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‘Questions
SDR’s are popularly known as
(1) Currency Notes (2) Paper Gold
(3) Silver Coin ' -(4) Gold Coin
THAR P THRIGET T Sl 8
(1) # Aew @ w0 A © W A & &
(3) FRicaX @B & &9 9 (4) 7ieS F[ET B &9 H

The components of WTO are

(1) Ministerial conferernce (2) Disputes settlement body

(3) Director General (4) All of the above
sqdal & o ¥

(1) wEh wig e 2) faar= Fuern el
3) TR (4) v T

Capital gain of Rs. 75 lakh arising from transfer of long term capital
assets will be exempt from tax if such capital gain is invested in the bonds
redeemable after three years, issued by NHAI w/s 54EC of the Act.

(1) True

(2) False

(3) Cannot be said with certainty

(4) Isdecided by the Assessing Officer

Sefereti= Ooft TRy & SRR § I B aren X 75 A H Yol S BT g &
I goft @ B wHegeend g fria AW gl @ uvEE e aoel |
e O 54EC & otwria Fraf far o @

1) @@

(2) o™

3) e & & 78 F8 T

(4) & Fuior el grr Aol e smam
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No. Questions
7. -| Deduction u/s 80G on account of donation is allowed to_

(1) A business Assessee only

(2) Any Assessee

(3) Individual or HUF only

(4) None of the above
m%ﬁﬁaﬁaﬂrsm%mﬁﬁa‘maﬁ%
(1) 30 T AR FEw b /i

(2) Tl i e & o

(3) daw =Rk S YT B R

4) S A B T

Deduction w/s 80D is allowed if the premium is paid to

(1) Life insurance Corporation

(2) Generalinsurance Corporation or any otherinsurer approved by IRDA
(8) Life insurance or General insurance corporation

(4) None of the above

gR1 80D & orri e Wi A & AR st @ e ReEn R

(1) sie s e &

(2) AT ST R R orEEr §RST A STgAiea el oft sl @

@) ofies dimr e gE dm e @l

(4) ST & ¥ B T
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9.

Under the head Business or Profession, the method of accounting which
an assessee can follow shall be

(1) Mercantile system only

(2) Cash system only

(8) Mercantile or cash system only

(4) Hybrid system
W@Wﬁmsﬁﬁiﬁ%m%wmmmwwaﬂﬁﬁnﬂﬂ?ﬁmﬁﬂﬁ@’ﬁ
9 B

(1) %ad WS Yol

(2) dad THE T

(3) IR YAl Fehe HoTelt

(4) Pl gomeh

10.

Incomes which accrue or arise outside India but are received directly into
India are taxable in case of

(1) Resident only

(2) Both ordinarily resident and NOR
(3) Non-Resident

(4) All the assesses

ﬁf&ﬁmﬁw%mmﬁaawwéﬁﬁ%aﬁﬁwﬁmaﬁaﬁﬁ%ﬁ
A g

(1) Faw SRl & /A
(2) WERUEE Far O e &l % ol
@) R-FrafEt & kel
(4 a+ft Heemaet & [
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Question

No. Questions
11. | ___ is an economic system based on the principal of free enterprise.
| (1) Socialism (2) Capitalism

(3) Mixed Economy (4) Marxism
el ol sHaen o HE SE @ Rewr W STHIRG e ¥ e §
O e @ gofer
(3) P ol O

12. | Privatisation of ownership through sale of equity share is called

(1) Denationalisation

2) Disinvestment

(8) Contracting

(4) None of these

Faa sl i et @ AT § wWiftRg @ el dEa @

13.

(1) oo

(2) fafras

(3) 3 I (WepferwTo)

(4) I X § B T

The Industrial policy resolution was passed first in
(1) 1931 | (2) 1947

3) 1956 | 4) 1999

el 9] e ARy s aRa Rear @ e

(1) 1931% (2) 1947%

(3) 19567 (4) 1999%

MPH/PHD/URS-EE-2018 (Commerce) Code-D
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14. | Globalisation is the term used to describe process of removal of

restriction on

(1) Foreign Trade (2) Investment

(3) Both (1) and (2) (4) None of the above

A9dIeRT S H WEM R W iie A ogem @l uiear & Rl R o @
(1) fRy =R (2) Fag

3 Q) T (2) I (4) WY T q PR T

15. | Laissez Faire policy is adopted in
(1) Socialist Economic system (2) Capitalist Economic system

(3) Mixed Economic system (4) Communist Economic system

Yol AR i oA T/ R
(1) THEER srfeaen & (2) otret orefeeen |
3) M srefemaeen | 1) T Fdaern §

16. | Which of the following is the vital question in the economic system
(1) What to produce (2) How to produce

(3) For whom to produce (4) All of the above

friciiea & @S- 0 sefaraen & [d wewqel a8 ?

(1) + IqRd HT (2) &9 SelRd B

(3) fud o saRa # (4) Iugw Gt

MPH/PHD/URS-EE-2018 (Commerce) Code-D
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17. | Which of the following is not the objective of Competition Act 2002 ?

(1) Prohibition of abuse of dominant position

(2) Prohibition of restrictive Trade practices

(3) Prohibition of anti-competitive Agreement

(4) Regulation of combinations

Frifoied & @ ebiF-ar ufoedt sffam 2002 & @ed T & ?
(1) oot Refy & govd @ R

(2) SREraRRE @O FEeR! & PRy

3) Svee-RAd s @ fw

(4) GaSH & FEE

18. | The credit for inventing the word “Privatisation” goes to
(1) Elton Mayo (2) F.W. Taylor
) L. Urwick (4) Peter Drucker
TSiRRer g/ B GeM H G I R
(1) Uee 74 (2) TH. o=, W I
(8) ud. fF @ (4) X g @

19. | Graph of variables having linear relation will be
(1) Curved (2) Hyperbola
(3) Straight line (4) None of the above
A = B e R Y e d R,
(1) @ (2 HARREE
(3) @ @ 4) Sw ¥ @ 98 T

MPH/PHD/URS-EE-2018 (Commerce) Code-D

)




Code-D

Question : i
No. Questions
20. | In which files, the records are organised in sequence and an index table is

used to speed up access to the records without requiring a search of the
entire file ?

(1) Direct files

(2) Sequential files

(3) Indexed Sequential files
(4) None of these

R Bt il Y o ¥ araRed Rear o § e R O BEd @ Bre RR
el 7 hea & g & A e e @ S R St @

(1) TE Biged

(2) FHAR BIRTE

(3) I HHAR Prgedl
(4) T Q P T

21.

Recruitment and selection involve;sx the following except
(1) Building a pool of candidates

(2) Completing application form by applicants

(3) Reduction of the work force

(4) Employment planning and forecasting

ot @ e § R

(1) R B w §a () B R B 2

(2) AEH ERT HEET-G B A &

(@) @& o F T A D

(4) AT P o g A

MPH/PHD/URS-EE-2018 (Commerce) Code-D
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Q“ﬁiﬁ‘m Questions
22.

Where a partner transfers any capital asset into the business of firm, the_

sale consideration of such asset to the partner shall be

(1) Market value of such asset on the date of such transfer
(2) Price at which it was recorded in the b_ooks of the firm

(3) Cost of such asset to the partner
(4) None of the above

ST HE WERK B B qad § g o TR swrig Hedl & df Qut @i & e
i 99 WEER & ol aem

1) EEwR @ R A R w@ AR T

2) aawﬁmwwwﬁuﬁqﬁﬁgaﬁﬁmﬁaﬁﬂﬁﬁmw%
(8) WEER % W4 Td gl & A

@) Iw ¥ d PR A

23.

Dividend paid by an Indian company is

(1) Taxable in India in the hands of the récipient.

(2) Exempt in the hands of recipient

(3) Taxable in the hands of the company and exempt in the hands of the

recipient
(4) None of the above
Uh AR HAI &R RAr T i §
1)yl & /3 9Ra § & a9
(2) wreRdl & 78 &g

(3) FE & 0 FX A uF gl & Rl H g

(@) vHw F ¥ wR

MPH/PHD/URS-EE-2018 (Commerce) Code-D
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24. | Agricultural income is exempt provided the

2) 9 9a % el aefior & F Rea @

(4) SugE A 4 B T

(1) Landis situateed in India

(2) Landis -situate‘d in any rural area of India

(3) Land is situated whether in India or outside India
4. Noné of the above

B T H TR 8 WA

(1) 9% 9Ra & Rea

3) 9 I & kT ¥ Rud 2 o WRA & A

25.

Deduction under section 80C shall be allowed for
(1) Any education fee

(2) Tution fee exclusive of any paynient towards any development fee or
donation or payment of similar nature

(3) Tution fee and annual charges

(4) None of the above

o 80C ol A T R e an

1) %% Rew g

2) R b oEr T9 ol g TR B O YER & PN @ Blga]
R I (I o) |

@) fmn & @ affe go

4) SuH A ¥ B

MPH/PHD/URS-EE-2018 (Cqmmerce) Code-D -
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26. | As per the RBI’s clean note policy writing on a currency note is

(1) An offense (2) A crime
(3) A punishable offence (4) The notes becomes non-legal tender

ARG B @6 T o A & FAR W T O | forewT & ¢

(1) T Ay (2) T AW
(3) T oY Ay @) - Rl g & o 8
27. | Which of the following is the latest buzzword among bankers ?
(1) Social banking (2) Financial inclusion
(3) Mass banking (4) None of the above
J5d & e Frafafed & § A9-a1 T 9= o § 8
(1) amles ST ©2) foi TR
(3) = Tge dfe (4) I § q B3 @&
28. | The portion of total deposits of a commercial bank which it has to keep

with RBI in the form of cash reserves is termed as
(1) CRR (2) SLR
(3) Bank Rate (4) Repo Rate

=wm%%@mm@mﬁ@mﬁm$$wwm%mﬁ

@ TSl & Hedm &
(1) WeMamW (2) WTIAR
B) & T 4 WR
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929. | For Indian banking, the 1st August of every year is observed as

(1) KYC Compliance Day

(2) KYC Compliance of AML Days

(8) Computer Security Day

(4) KYC Compliance and Fraud Prevention Day
area e F ofe @€ 1 R HEEr ST @

1) DR o Raw & &

) PIEW AT P YT Raw & &7 7

B) g g Raw & w9 A

@) FTEA I W B9 Farer Rew & &7 F

30.

Real Time Gross Settlement (RTGS) is management by
(1) State Bank of India (2) Reserve Bank of India
(3) Indian Bank Association (4) Government of India
R @A G SRaile (REATE) B Sewer Rhar S @

(1) ¥RdE e 9% &N (2) R e &% g
(3) RGE JH & T &N (4) TRA &R &

31.

If the current ratio is 2 :1 and working capital is Rs. 60,000, what is the
value of the current assets ?

(1) ¥60,000 (2 ¥1,00,000
@) ¥1,20,000 (4) %1,80,000
o Oy oEE 2:1 ¥ @ sddiw i ¥ 60,000 ¥ O Al @ O]
I |

(1) 60,000 2) ¥1,00,000
(3) 1,20,000 (4) ¥1,80,000

MPH/PHD/URS-EE-2018 (Commerce) Code-D
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39. | Which one of the following is correct

' (i) Aratioisan arithmetical relationship of one number to another number
(i) Liquid ratiois also known as acid test ratio

(iii) Rule of thumb for current ratio is 2:1

(iv) Debt equity ratio is the relationship between outsiders fund and
shareholders fund :

(1) Only @), (i) and (iii) are correct

(2) Only (i), (iii) and (iv) are correct

(3) Only (i) and (iii) are correct

(4) All of the above

Rrefefag & & N @1 @ & 7 _

@ a@qﬁ@ﬁ@rﬁ@ﬁﬁwwnﬁﬁﬂa@aaﬂ%l

(ii) ma@mﬁmqﬁwwﬁﬁﬁﬁl

(i) ZaeiE &9 @ g I 2 11 Bl &

(iv) mmmmﬁ%mwam%m%maﬁam%
(1) ¥ (), (i) T (i) T& 8 -
@) @4 (i), (iii) W@ (iv) & B

(3) Faw (ii) T (iii) ¥ B

(4) SugE o wE §

33. | If compounding is done quarterly in year, the effective rate of interst is
equal to '
(1) 4 X nominal rate of interest

(2) (1+ nominal rate of interest/4)*

(8) (1+ nominal rate of interest)/4

(4) All of the above '
%ﬁaﬁﬁw@wwﬁm(@aﬁ)mm%amaﬁqﬂ@ﬂw
(1) 4x < & Sffed |

@) (1+=n @ i aX/4)!

@) (1+= @ i ®)/4

(4) SwF
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34.

Cost of capital from all the sources of funds is called

(1) Specific cost (2) Composite cost

(3) Implicit Cost (4) Simple Average Cost
BN 3 @ D B ot A e B

(1) kR arma (2) 93F @rFE

(8) iR @ (4) wrERer Sl @R

35.

Which one of the following is not used to estimate cost of equity capital ?
(1) External yield criterion |

(2) Dividend plus growth rate

(3) Equity capitalisation approach

(4) Capital ssset pricing model

T GOt BT WO SR H S Ry Freived F @ R5d @ e o ¢

(1) 9@ @9 Agve

(2) i 9fed g

(3) GHaT Yol Srgemren

(4) 9ot Ty frefor steq

36.

Liberalization means
(1) Reducing number of reserved industries from higher to lowe number
(2) Liberating the industry, trade and economy from unwanted restrictions

(3) Opening up of economy to the world by attaining international
competitiveness

(4) Free determination of interest rates

SR F A 2

(1) o S & ger &~ & w9 5@ o gen § ol 59 @

2 G@WW@W@W(&W@)WWT%WW%%F@
@) T wieet B o S BT B Rie srler @ g 3 R

@) =N & g ek 3 R
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37. | When a company taken over another one and clearly becomes the new

owner, the action is called

(1) Merger (2) Acquisition

(8) Strategic Alliance (4) None of the above

o A FE gE e B ot R ¥ oY e w9 A e o ol g A
o fpar wewh B

Q) fow - (2) AR
(3) ToMiH AN . () IF ¥ @ L T
- 88. | Relaxing the restrictions and controls imposed on Business and industry

means
(1) Liberalisation ' (2) Privatisation
(3) Globalisation ' (4) None of the above
A T TE W A T ARl o R ge 3 @ A o E
(1) ST @) freise |
@) AgiF (@ IR TR T

39.

Company images and brand equity is factor affecting Business
(1) Internally W

(2)' Externally

(8) Government Policy

(4) None of these

F 9 o @ Fvs 3REd AR ge ¥ o aE @y B €
(1) oS &7 &

(2 TWETH

() ww@ iy |

(@) wofw A A P T

NMPH/PHD/URS-EE-2018 (Commerce) Code-D
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Q“ﬁsf‘m - Questions

40. | Which among the following is not opened for private sector participation
(1) Power sector , (2) Telecommunication sector
(3) Education sect:or (4) Railway '
PRt & 2 Bed Fohl & & seierd & Rl 78 e 7 3 7
1) e & @ T HER &
(3) Rem &= 4) Yd

.41. Brand concept not includes |
(1) Digital marketing (2) Brand name
(3) Brand identity and value (4) Brand personality
SIS STauRen § winfa T §
(1) TR AmReT ©(2) FI9€ H AW
@) S P B & T (4) s & FfRE

42. | Which research includes all types of researchers into human motives when

it refers to qualitative research designed to uncover the consumer’s sub

consciousness or hidden motivations ?

(1) Motivational Research (2) Marketing Research

(3) Managerial Research (4) Price Research
agzﬁq—mmgém%mﬁwafﬁmﬁﬂﬁmwmmﬁﬁmmqm
%@W@’@W%WW@@W@@W%MW
TIEEN B B0 g R o ® 7

(1) PRI ST 2) R smEam

() TSHDIE STHIN (4) D FFHaE
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43. | Which is not a method of performance appraisal ?

(1) Straightranking method (2) Man-to-man comparison method

(3) Check list method (4) None of the above
T BN-e Frowes geaie @ Rl i § 2
(1) & wRR (@) =i @ i @ e R

3) = gt ffy . (4) g & @ B

44,

Arrange the following staffing procedure in the correct sequence
(1) Determining sources of personnel supply

(ii) Preparing personnel specifications

(iii) Selection of personnel

(1v) Determining Persom_lel Characteristics

(1) @i), @), @v) and (iii) 2 @), @), (iii) and Gv) -

1 ® (), @, (i) and (v) @ (), (i), () and @v)

i Fgle ofear & @81 @9 § saied Sicd
() Qo @ eyl F didl @& et
(i) HarEffal & dafte iR & R e

(iii) Qarsiiat &1 Tgg9q
(iv) QamEral &t Qe @ faker
D) (i), @), (v) T (i) ) (@), (i), (iii) T @v)

@3) (i), @), (i) W @iv) @) (i), (i), () @ (v)

MPH/PHD/URS-EE-2018 (Commerce) Code-D
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Quﬁsf‘m Questions

45. | Training information system included
(1) Training aids (2) Internal and external faculty
(8) Training resources (4) Trainingneeds .
SRET G SOl ¥ iR E
(1) wiwer @ers (2) o= Td aTel T Hae
(3) SRE HEre (4) SRECT STawEeEad

46. | Anenterprise gets more output and mutual cooperation from its subordinate
staff by adopting
(1) Motivating by Leadership
(2) Motivation by participation
(8) Motivation by goals
(4) Motivation by Challenges _
O T T e FHERE & ol S oTeeye T R wed M Hi & AR
T T H o
(1) I 2R SRERe
(2) BRI BRT SIRERET
(3) Wl BRI AREROT
(4) TAREN ERT AR

47. | Onthe Job Training Methods is based on

(1) Demonstration Method (2) Apprenticeship Training Method

(3) Informal Training (4) All of the above
1 G g bl smafia &
(1) e [y w (2) ufRkrg widweer fafy @

(3) IR AR | @) IEF T W
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48. | The concept of Human relations was developed by

(1) Robert Owen (2 V.V.Giri

(3) Elton Mayo (4) Edwin B. Filippo
e dael @ SragRen Repfa @ @ o

(1) U e & @) . @t Flit ax

(3) Ued I U . (4) wsfaw . Ml ar

49. | Which among the following are parts of job description ?
(1) Duties performed

(1) Job summary

(iil) Job identification

(iv) Supervision given

(v) Delegation of authority

(1) @), (i), (1ii) and @{iv) (2) (i), (iii), @v) and (v)
@) (1),.(iid), (v) and (v) @) @, @), (i) and (v)
Preffed & @ @ a-aoi & ¥

() Fonkd @ w9

(i) HE GRS

(i) FE A

(iv) Rar mar wHdee

(v) SRl & qre

1) @), Gi), (i) T @{iv) (2) (i), (iii), @v) T (v)
@) @, (i), (iv) @ ) @) @), @), (i) T (v)

MPH/PHD/URS-EE-2018 (Commerce) Code-D
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50. | Job analysis provides information used for writing
(1) Organisation chart (2) Policy
(3) Job Description (4) Procedure
(1) EreoEs S (2) i
3) Fd e (4) sy

51. | Which section of Banking Regulation Act 1949 provides nomination for
payment of depositor’s money ?
(1) Section 42 (2) Section 24
(3) Section 111A (4) Section 452A
e fafEe sfufrm 1949 31 SF-8 aRT SRl & o & e & Rl A
% T FA T
(1) 42 (2) 4124
(3) =T 110A (4) 9T 452A

52. | Relationship of b'a-nker with payee of draft

(1) Trustee and Beneficiary

(2) Drawees and Drawee

(3) Licensor and Licensee

(4) Principle and Agent

S & TAM TN a9 & G T & Fay A
(1) el wd e & ‘

(2) el wd el &

(3) WEERR T4 WEEl &

(4) 999 & AR B
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53. | Which of the following statement is true ?

(1) The currency notes issued by RBI are legal tender throughous
the world.

(2) The treasury bills are sold by the RBI for raising its working capital. |

3) Al commercial banks, including those owned by government, do not
need a licence from the RBI to do banking business.

(4) The RBI is a banker to both central and state governments.

Fr=ifeiea & & @F-a1 & o § ?

(1) omdteng ar Frfd @& g3 et fasg F dogw ol B

(2) ool s Goll Gl e & o) TRaiong awr o Rl o fesma R s
1

(3) wdit AR It e T ¥ o afe ¥ B ST FHaaE w0 B R

ARAISAR § TEHY A B SATBa T el |
(4) IRHAE 5 W@ T GHR GF & 5T 2 21

54. | SEBIis

(1) Regulatory Authority
(2) Statutory Authority
(3) Both (a) and (b)

(4) None of these

GEIR

(1) Fams e

(2) Jenfrp SfRreTY

3) (1) T (2) A

(@) vEw F Y T

MPH/PHD/URS—EE—ZOIS (Commerce) Code-D
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55. | The short term money market comprises
(1) The call money, market

(2) The interbank ﬂeposit market

(3) The bills re-discounting market

(4) All of the above

ST T R g @
(1) =TGR AR @) o ¥ Pl R
@) R g H TER 4) s af

56. | Bilateral arrangements instituted to restrain the rapid growth of exports

of specific manufactured goods, are called
(1) Administered protection (2) Voluntary export restraints
(3) Imposed export restraints(4) None of the above

3 feeta e o Pt s 3 Pt A @ e A & 2t o R O
3 i PR T %, e ¥

(1) =raRed e (2) Wiws Fafd e
3) o gl Frf oriees (@) S ¥ q B T

57. | Indiais not associated with

(1) SAARC | (2) NAFTA

(3) BRICS (4) None of these
ARG e @Y T T ©

(1) 9 (2) W

@3) @) ¥ @ @i T

MPH/PHD/URS-EE-2018 (Commerce) Code-D
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58. | According to the credit tranche policy of the IMF, credit is made
availablein:
(1) TFive tranches, each equivalent to 20% of country’s q_uota
(2) Four tranches, each equivalent to 25 % of country’s quota
(3) Ten tranches, each equivalent to 10% of country’s SDRs
(4) Four tranches, each equivalent to 25% of country’s SDRs
STRTITE % GUs oMeiRa & i & ofuR, arg Suwer HUE o &
(1) U @ § 5% 39 UK S B B 20% B TWEAT
(2) X TGSl § URAF IT UK B HIeT B 25% B I
(3) @ @vE ¥ IR o6 TS B WA & 10% B TR
@) R GUd § 5% I UL B AR B 25% B TWER

59. | A tariff fails to restrict imports when the demand for imports is
(1) Perfectly price elastic (2) Priceinelastic
(3) Of unitary price elasticity (4) None of the above
B OYTH AR B ARERa HO F orawe @ & o o @ A
(1) ofear 3w wie @) T e
() TR F IR LT a0 (4) IFF T A B

60. | Which barrier can be used against recession induced exports into the

country ?

(1) Quotas ' (2) Voluntary export restraints
(3) Tariff ‘ (4) All of the above

it 391 7 A v Frafdl & Rew $9 @ omdy w6 B o ¥ 2
(1) Fer (2) wWftes FRM sEus

(3 "Yh (4) SugF a+dt
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61. | Correlation between income and demand is
| (1) Negative ; @) Positive
(8) Zero | (4) None of the above
a9 T AT B "l Hewad ol §
| (@) FTHD -~ (2) g9
@ T (4) ST A § B A
62. | MIS stands for ?
(1) Multiple Information System
(2) Maximum Information System
3) Management Information System
(4) None of the above
TR § T R -
(1) g FaAr qom (2) SRR GE SOl
@) s T (4) 99w § A
63. | isthe term given to any system of reorganiztion of data items within

a file, where the reorganisation is independent of the information content
of the file.

(1) Printing (2) Maintenance
(3) Copying (4) Merging

MWﬁW@WﬁﬂWmﬁmﬁﬁﬁeﬁwzﬁwﬁaa
ﬁﬁwwﬁégﬂﬂaw%ééaﬁtﬁaﬂa%%w% |

(1) aw (2) g™
(3) wfTeRTeT (4) oE ¥ e &
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64. | In which files, the records organised in such a way that it is possible for

the computer to directly locate the key of the desired record without having
to search through a sequence of other records ? :

(1) Direct Files

(2) Sequential files

(3) Both (1) & (2) above

(4) None of these
mmﬁaﬁﬁﬁwwmﬁmm%ﬁwﬁmmm
aﬁﬁﬁﬁﬁumaw@ﬁmmaﬁﬁ@?é}maﬂ@ﬁwm@w
e 8 ? |

(1) S B

(2) STFHH FERH

@) Q) T (2) I

@) g ¥ Fg T

65.

Relationship of two or more variables is examined excluding some other
variables in case of '

(1) Total correlation

(2) Partial correlation

(3) Multiple correlation

(4) None of the above
@Wﬂﬁﬁ@@@ﬁawﬂ@maﬁaﬁméﬁaﬂww
Pl ©

(1) T Fedsy

@) oiREs TeEdd

(38) FETN TEEdd

(4) SHH A B T
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66. | In the calculation of return on shareholders’ investments the referred

investment deals with

(1) All reserves

2) Preferehce and equity capital only
(8) All appropriations

(4) All of the above

AN & RFER W oy @ e e 3 R geifa RtEe @ argd
2T ®

(1) a9 d=at 7
@) aw yaife o o §
(3§ fafEr |
(4) Swgw o |

67.

%

Dividing the net profit by the paid up amount of equity share capital
yields

(1) Temporary investment

(2) Earning per share

(3) Rate of return on equity share capital

(4) None of the above : :

IS AT B GHAT SIS AR R B A Sar TAK R

(1) ol fafsEnr

(2) wfvesr o
(3) T SHAYSH T TG P &
(4) Sugw 7 @ P TE
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68. | The return on investment (ROI) may be calculated as

(1) Net profit before interest, tax and dividend / Capital employed
(2) Net profit after interest, tax and dividend / Shareholder’s fund
(3) (Net profit - preference divided) / No. of equity shares

(4) Return on Investment / Net profit ratio

RfrrT & S (m@ﬁaﬁ)ﬁwgam@aﬁmm%

(1) @, & @ aEa [ gE /AR g

2) =, FT d IS URER I T /SAERdl & Hi

@) (g= am- - qreisT) /e i B EeE

(4) faffEM W IE™/gS AW Sgud

69.

The major sources where from debentures can be redeemed are

1 (@) Profits

(i) Capital
(iii) Provisions made for redemption
(iv) Conversion into shares or new debentures

Select the corrent answer using the codes given below

1) (), (ii) and (v) 2) (i) and (iv)

(3) (iii) and (iv) @) (), (i), (i) and (iv)
ﬁ@@ﬂﬁﬁ%mwﬁmaﬁaﬂﬁmﬁw%a%
@)

() g

(i) ew P A @ T gEgH

(iv) T4 RO remar s F uRadH

93 RY W B AN B §Y W HF T B
(1) @), Gid) @A) 2) @) (@v)

(3) (i) @ (iv) @ @), (i), (iii) @ @v)
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70. | Which of the following profits are capital profits ?

(i) Profit prior to incorporation

(i) Premium received on issue of shares or debentures
(iii) Profit made on redemption of debentures

(iv) Profit set aside for redemption of preference shares

Select the correct answer using the codes given below

(1) (@), (iii) and (iv) @) (@), (iii) and (iv)
3 @), i) and () @) (), i), i) and Giv)
P 3 & @ & T ol a3

@) weT d @ F

(i) Sl ST =t B T WO it

(i) ROl & e W@ Sl @

(iv) Eifteer oislt & aies & R @ T e

T R T g A i B g TR o B
(1) (), (iii) T (iv) 2) @), [ii) T (iv)

@) @), (@) (iv) @ @, @), (i) & @{v)

71.

‘Market control process consists

(1) Formation of Performance standards
(2) Performance Appraisal

(3) Correcting Deviations

(4) All of the above

SR = ofear & e @

(1) Foes qmet @ fafor

(2) e geiea

(8) fa=el @1 gar

(4) STgFT
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72. | The marketing plan provides both

(1) The vision and the cost

(2) The vision and the direction
(8) The vision and control

(4) The vision and the post
IR o 390 & R ® ;o
(1) °Edes @ ArE

(2) ofacie Td e &=

(3) aeie T FEwr

(4) M TG AT daa

SU—.

73.

Which of the followizig is not factors of the demand variable, according to
Philip Kotler ?

(1) Environment Variable  (2) Competition Variable

(3) Customer Variable ~ (4) All of the above

i Fleer & oA Frfofed & SF-ar # § Racds @1 oo T8 ¢ 7
(1) uRay =X (2) wfcoeet =X |

(3) uEE =W | 4) o &

74.

Which of the following is not controllable variable of marketing
management ?

(1) Competitive Environment (2) Technological Environment
(8) Economic Environment (4) All of above

R s & Frefofed ¥ @ A9 @ Freeeie oo ®

(1) eyt deeft afay (2) T giRaAgT

(3) onfer wfder (4) Sugw T+t
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75. | Promotion mix is the particular cdmbination of promotional tools used by

acompany to ______ with its audiences.

(1) Communicate

(2) Help

(8) Purchasing Decision

(4) Plan |

R el T T Pt 3 9 ¥ s vl % Fre e o a1 s R
I R, 98 6 G e H Akl @ g el §

(1) g3

(2) aEE .

|(3) wq R

(4) ™A

76.

Which is a base of green marketing ?

(1) Green house gas reduction market
(2) Capital Flow |

(3) Programme |

(4) Product

frefife & & e-a1 i AHET H AN &

| ) # eewgiee v (@) Tl R

(3) wHIH (4) ST
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77. | The market process involves, which functions ?

78.

(i) Buying (1)) Transporting

(iii) Storing - (iv) Selling

(v) Grading (vi) Financing

(vii) Risk-bearing - (viii) Dividing

(1) (@), (ii1) and (v) 2) @), (i), (i), (vi) and (vii)
(3) Only (iii) (4) All of these

R R § Se-ar R afai § 7.

(G =4 (i) uReEd

(iil) USRI (iv) TEpg

(v) SviieBRor (vi) o=l o

(vii) SREIH-a8 (viii) fEERoT |

1) (@), (i) @ @Qv) | @) (), @), (i), (vi) T (vii)
(8) e (iii) (4) 3@l
. Sales promotion includes all promotional activities other than advertising,
personl selling and |

(1) Publicity @) Aﬂvertisement

(3) Production (4) Coupon

g wadt & ael fssa wad el it i & Ry R, iR e
__ @ BiEa| _

(1) =R : (2) fasmas

@) S 4 T
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79. | Which of the following point is responsible for effective market

E segmentation ?
(1) Measurability (2) Easy & accessibility
(8) Substantiality (4) All of the above
me%mmﬁﬁﬂﬂ—mmsw@aﬁ%?-

'E (1) uiFEa | (2) | & SAREEE

; (3) ORI | (4) SugF &t

E. 80. | Philosophy of marketing includes:

S

(i) Product criented marketing

(i1) Production oriented marketing

(iii) Sale oriented marketing

(iv) Customer oriented marketing

(v) Social marketing

(vi) Green marketing

(1) i, ii,iiandiv (2) ii,iii,ivandv
(8) 1iii, iv,vandvi (4) All of the above

RF 3 adH-are ¥ i @

() TORNE faE

(i) SERARE e

(iii) fspaig@ faqum

(iv) IEHE fauer

(v) gmREs fauE

(vi) A9 AR | .
(1) 1i,ii,iii @ iv Q) ii,iii,ivi@v
3) iii, iv, v vi (4) Swgx |l
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81. | Consider the following statements :

Planning involves

(1) Forecasting

(i) Choice among alternative courses of action
(i) Wishful thinking

(iv) Decision only by production manager

'Of these statements :

(1) @), (i1), (i11) and (iv) are correct
(2) (@), (iii) and (iv) are correct
(3) (1) and (ii) are correct

(4) (1) and (111) are correct
friafaa #odl W e R
frie & i @

Q) g

(i) Ifeass FREAET & A T

(i) §BT SR GO (ST S)
(iv) i Faq SEET TE @ml
ELRCTICT G S|

@) @), @), (i) T Gv) T &

@ @), (i) T Gv) ¥ &

@) () w (i) W &

(@) (i) @ (i) ¥ &

82.

Overall and strategic planning is done by the :

(1) Top management (2) Middle level management

(8) Supervisory level management (4) All of the above

I UG Mo e fhar S §

(1) i e gm (2) AT YSY EN
(3) THaud WG W+ & (4) IgF a4
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83. | Ifa general manager asks the sales manager to recruit some salesman on

his behalf, it is an instance of
(1) Division of authority (2) Decentralisation of authority

(3) Delegation of authority  (4) Delegation of responsibility

If Ree T TR BN O S @ 98 e ST 5 98 36 o § g8 [
el @ Sl B A Ie TH IaeT B

(1) IRER $ faaee @ (2) REHR § Tt &
(8) RBR F AU (4) TUERGE B AR FH

84.

Consider the foliffswiﬁg basic steps involved in the process of control :
(i) Identifying the strategic control points

(i) Establishment of the standards

(iii) Measuring performance against standards

(iv) Correcting deviation from the standard

@O @, @), (iid), @) @ @), Gi), @), Gv)

@) @), @), (i), Gv) @ (i), i), G), Gv)

R &)yl @ T R SR wRen B dee F e
() TR Faeer el (Fed) @ wam T

(i) TR B WU B

(iii) AR B SIER FSIRH F A HTN

(iv) A @ gY faeer B gar &

1) @), Gv), (i), () @) @, @), @Gii), @)

@) (i), @), (i), Gv) @ (i), (i), @), (v)
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85. | Anorganisation structure is effective if it enables individuals to contribute

to the objectives of the enterprise. This is known as
(1) Scalar principle

(2) Principle of functional definition

(3) Principle of unity of objectives

(4) None of the above

T HTeATH Sre. St ARkl B 36 A g & [ d @A & el & wi |
HEwyel AN Y, THESIE B ¢ | 59 %ol I 8

(1) S sy R

) i R e

(3) Al P wHA H R

@ IR T q P T

86.

While delegating, a superior delegates

(1) Only authority

(2) Authority and responsibility

(3) Authority, responsibility and accountability

4 Authoritjr and responsibility but not accountability
WA A T, Th oA SAUHR ST HLAl 8

(1) 3as AR &

(2) PR wd IR H

(3) IR, IR TG IR &H

(4) RER T SR B R ST T
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87. | Which of the following is true with respect to planning function ?

(1) To make a blue print of ideas and work
(2) To tell the work allocation to all

(3) Monitoring whether the things allocated are done proberly
(4) None of the above

Frie wd & gy & Freifea § @ s A € ?

(1) R ud & & sRar :

@ wh B @ R  @4e § o |

(3) 2T a4 1 Friemr & 5 R & @ seary R T E 98 w6 e ¥ 8 @
N _

@) S F q HE T

88.

Each subordinate should have only one superior whose command he has

to obey. This is known as

(1) Division of work

(2) Exception principle

(3) Unity of Command principle

(4) Authority - responsibility principle

WW%WWWWWWWWTHGQWW%
Tq %l I 8

(1) A faaes

(2) a1 s

(3) SRY B Thel H R
(4) HRFR-ITERE #1 R
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89. | In line and staff organisation the staff performs the function of
(1) Management

(2) Advising the management

(3) Assigning responsibility

(4) None of the above

X @ Rl e 3, R A

(1) "9 &

(2) SEcE B st A @

3) ST & st & &

@) S T q Hg T

90. | Which one of the following orders indicates the correct logical order of

managerial functions ?
(1) Organising, Planning, Directing, Staffing, Coordination and Control
(2) Planning, Organising, S_tafﬁng, Directing, Control and Coordination

(3) Planning, Directing, Organising, Staffing, Control and Coordination
(4) Organising, Planning, Staffing, Directing, Control and Coordination

i & & @ A F aikes U @ e a @ w E) P e D
(1) e, Frlior, Féem, R o, @ @ R
@) PRl dew, P &6, R, Rrasrr o awe
(3 e, e, W, R @, P o awed
4) WS, FaH, PR e, FesE, Fraer o gra
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91. | The kinked demand curve explains
(1) Pricerigidity ~ (2) Price flexibility
(3) Demand rigidity (4) Demand flexibility
fegfere T 95 AT B ¢
() @ gear ' (2) Fd T
(3) T ge (4) WA T
92. | Imperfect competition was introduced by
(1) Marshali (2) Chamberlin
(3) Keynes (4) None of these
arget s Ryer R @
(1) e & @) i &
(3) F W @) T ¥ § B T
93. | A situation in which the number of competing firms is relatively small is

known as
(1) Monopoly . (2) Perfect competition
(3) Monopsony (4) Oligopoly |

wﬁﬁﬁaﬁrmﬁwﬁwﬁmaﬁﬁmﬁfﬁawmﬁmw@m%
FEA! &

(1) THRHR 2 T gREfEr
(8) HeEEnX (4) STEITREHER
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94. | Demand is a function of
(1) Price ' (2) Firm
(3) Product (4) Cost
A B 8
(1) i @ . @) i @

(3) S &M (4) @ @

95.

Price effect in indifference curve analysis arises

(1) When the consumer becomes either better off or worse off because

price change is not compensated by income change
(2) When the consumer is better off due to a change in income and price
(3) When income and price change
(4) None of the above
SEaT 9% A § Ha 99 SO o @

(1) SusieRT a1 @ Jea Rafy F S ¥ over e Refy § ity i § gY W
o o § g uRadH @ aiagid €l & i

@) 9 N T B & uRad $ BT Sue ored Refy § @ B0
@) 9 o Ud Ed § qRadd 8 |
@) vwg ¥ A B T
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96. | Elasticity of demand measures the

(1) Sensitivity of production to changes in a particular cost

(2) Sensitivity of sales to changes in a particular causal factor
(8) Value of price and cost

(4) Volume of product
AT F A A Rl R -

(1) it RRre arm & oReds & R0 Saed 9 aRERRar & |
(2) et Ritre sfd ges § oiadT & SR g 9 sfy Gk @

(3) B T& @ B T H
(4) IO H qE H

97. | In the case of an inferior good, the income effect
(1) Isequal to the substition effect
(2) Reinforces the substition effect
(3) Partially offsets the substition effect

(4) More that offsets the substition effect
Frgee aegell & dey § oy ywE |
(1) SR J91E $ SR S 2
(2) SRR 919 F G3E B @
(8) SR T A i &9 @ SRR BT ¥
| (4) FIRITT g9 B X s aRwgRi B
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98.

What is customer value ?

(1) Ratio between the customer’s perceived beneﬁt,.s and the resources
used to obtain these benefits

(2) Excess of satisfaction over expectation

(3) Post purchase dissonance

(4) None of the above

e T T 27

(1) m%mwmﬁmﬁwmmﬁiﬁmmﬁmﬁﬁ@
HqieAl % 9 ST

(2) T B G AGRE F SR

(3) 9 IW G

(4 Iwgw & q g T

99.

Which method does not consider the time value of money

(1) Net present value (2) Internal Rate of Return
(3) Average rate of return  (4) Profitability Index
Frfifea & @ -0 fofy & w7 g @ §@ § T80 ol

(1) = T9E 71 (2) A=RE J9E

(3) Sl A & (4) TTEREE EHS

100.

Which of the following has the highest cost of capital ?
(1) Loans (2) Equity Shares

(3) Bonds (4) Preferences Shares
P & & Roee) gof e waffes 2 7

1 Fo (2) T ST

(3) dfvgy (4) @EiftER S
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Ph.D/URS/M.Phil 2018 Commerce Entrance Test Answer Key

.No Set-A Set-B Set-C Set-D
1 c— B~ e B
2 A— Cr D -~ (e
3 {197 B B — D—
4 B~ AT B~ B~
5 (el B~ A D~
6 A D-— B~ A~
7 A— C -~ B~ B—
8 C— A~ A- B —
9 B— D-— B~ C—
10 B — D — ' D~ D—
11 A~ c— D— B -7
12 B~ B~ B— B —
13 D~ c D— cC—
14 A~ A D~ C
15 A~ B— A B
16 B~ (6 D- D~
17 C~ B~ D— B~
18 A - A~ A D~
19 cr D~ D~ C~
20 B~ B~ # e C—
21 € B~ D~ ¢
22 D - C— A~ B~
23 B ~ D~ D~ cr
24 B~ B~ G A~
25 A D— D— B—
26 B~ A B ™
27 B e B — B BT
28 A~ B~ B~ AT
29 B~ C - B— D—
30 Dr D~ Ao gl
31 B~ = c— C
32 Br A B-— D~
33 cr c— c— B~
34 Cr B~ A~ B~
35 B~ c— B- A
36 D A— c— B—
37 B~ A— B~ B~
38 D™ g A A
39 C B~ D— B~
40 Cr B~ B~ D -
41 B — D~ c— A—
42 c -~ g~ A— A=
43 B« D~ c— D~
44 A D~ B A
45 B:% A C D
46 D— D~ AT B=
47 g D™ AT D—
48 A AT e c
49 D~ D~ B~ A
50 D~ o B c
\A
" W\

|721'«Z I8




51 D~
52 B~ e
53 D~ - o= 2
54 - = D
D~ : oo
55 A A C: e
56 C
D~ = =
57 D™ — = =
58 A = o o
59 D~ — - -
—
22 — A— 2 B/
A~ — -
62 e = ,
A — :
63 (k5 = : =
64 AT - o~ :
6 = - :
55 (b : — A=
6 B~ = =
2; D« i :: o
69 C - - < c-
: c - — - c—
: = = = =
G 5 =
72 B~ = o .-
7 = -
73 :c : B D.—
4 A o = o=
75 B~ - - D
"
76 C~ — = =
77 B = =
- - A-_
78 A~ == D D
79 D~ . G E
80 Bir e =
81 B — o> E
82 . = :
A = — ce
83 D~ . : =
84 C i o2 >
85 — =
D— -
86 . =
8 - F =
: = - D~ C
88 . = w
e — B B e
— -
B : e
90 = c
9 — : :
1 B — = C
B'-
92 C o X
93 [}'. B~ = 2
'S
§ = — A
B =
95 — =
96 D~ 2 i
A e =
97 B = .-
~ . 5
98 = B A
99 B— = =
C — - / -
100 D = c
— "
[y o :
c~ —
8
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